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Monday, February 23, 2015

--- Upon commencing at 9:36 a.m.
MS. LONG:  Please be seated.

Good morning, everyone.  The Board continues to sit today in EB-2014-0116, an application by Toronto Hydro for custom rates.


Mr. Keizer, I understand there are a few preliminary matters you would like to deal with? 


PRELIMINARY MATTERS:

     MR. KEIZER:  Yes, actually, two more, I think, just as a reminder.  Well, the first one is.  The second one is more substantive. 

     You may recall on the first day of the hearing we indicated that SEC and AMPCO wished to cross-examine Navigant, which provided a report in support of Toronto Hydro's application, and I had indicated that Mr. Eugene Shlatz, who is from Navigant, was available tomorrow. 

     So -- and he is only available tomorrow.  So in order to accommodate scheduling, our thought was that we would make him available first thing in the morning at the outset of the day so that he could be crossed and then leave.  So we would sit him as a single -- since he is an expert witness, we would sit him as a single witness and then resume with whatever panel we have undergoing cross at that time. 

     But I wanted to make sure that people were aware that he would be available first thing in the morning, if that is satisfactory with the Board. 

     MS. LONG:  Mr. Rubenstein, do you plan on cross-examining on that -- Mr. Shlatz?  Do I understand that correctly?

     MR. RUBENSTEIN:  Yes.  Myself and Mr. Crocker. 

     MS. LONG:  Okay.  We're going to get to Mr. Crocker next, but it will be you that will be doing it tomorrow, and tomorrow works, first thing in the morning?  

     MR. RUBENSTEIN:  Yes.


MR. KEIZER:  And --

     MS. LONG:  Okay.  I see some materials before me.  

     MR. KEIZER:  Yes.  That's right.  This is the second, more substantive matter. 

     You may recall as well from day 1 of the hearing the Panel itself had a couple of inquiries which Toronto Hydro has, I think, worked hard over the last few days to accommodate. 

     One of those was Member Spoel discussed the issue of a list with respect to ICM projects as to their status and 

completeness.  As well, I think, you, Madam Chair, also indicated that the Board was very interested in 2014, and so you wanted us -- and I think it is appropriate that we would, obviously, provide additional information with respect to 2014. 

     So what Toronto Hydro has done -- and it was filed last evening -- is put together the material which is in front of you now.  The material contains a summary of the ICM job-level accomplishments, both with respect to those that were filed as part of the ICM application originally and those that were not filed but were added to segments over that ICM period. 

     There is also a description of how job-matching and ultimate true-up will occur, as well as an example of dealing with a particular job-level application with respect to an ICM true-up, just for one particular.

     As well, there is also at attachment 1 a comprehensive job status list.  And in terms of updating for 2014, Board Staff IR 39 has also been updated for 2014. 

     There you will see in that last attachment the numbers are redacted, and the reason why the numbers are redacted is the 2014 numbers have become available now because it's early in 2015. 

     They have not been subject to an audit.  They have not been reviewed by the board of directors to form part of the financial statements, and they are forward-looking numbers.  So Toronto Hydro as a reporting issuer, the Securities Act is -- has to deal with aspects of those statements in terms of public disclosure.


As a result, we have sought to redact those numbers and have made available to those people who have signed undertakings the confidential submission with respect to the 2014 numbers that are shown as redacted in that last attachment to -- for appendix -- for IR 39.  So they would actually be attachment -- there's two attachments, one for -- at an ISA level and service amount level and also for capital expenditure, both of which are attached at the end of the document that has been filed.  

     As well -- and I think it would be of assistance for the Board if Mr. Walker could speak to what was filed, to place it in the appropriate context, and then, obviously, having done so, then he would be -- or the panel would be available for cross-examination with respect to the material as filed.  

     MS. LONG:  So, Mr. Walker, do you want to do that now?  

     MR. WALKER:  We feel that this document demonstrates that we executed the ICM work plan as we had intended.  The actual work that was completed or that was undertaken conforms to our expectations as we filed them, and the variances that we show, variations, are also in line with what we had expected and what we had filed. 

     As of the end of 2014, 90 percent of the jobs that we filed were either completed or were in progress in the course of the three years, and for the remaining 10 percent, they weren't started because we substituted other projects within ICM-approved -- Board-approved ICM segments that were necessary because of emerging requirements. 

     Also, the ICM CAPEX and ISA values are within approximately 5 percent of the approved amounts for 2014 and -- sorry, 2012 to 2014. 

     And I should mention that this was done very rapidly, on a best-efforts basis.  And while we believe it is very accurate, it may not be perfect.  There may be some errors.  But generally it should be very representative.  

     MS. LONG:  Thank you.


Mr. Keizer, just for my own clarification, we have two documents here.  So I understand that you're also seeking confidential treatment over these -- smaller document as well?

       MR. KEIZER:  Yes.  What you have before you is a -- are two documents, both dated February 22nd.  The larger document has at the back of it as attachment 3 and attachment 2 the updated version for IR 39, Board Staff 39. 

     MS. LONG:  Right. 

     MR. KEIZER:  Because of the 2014 numbers being forward-looking as they are, with respect to financial close-out and other things, the full confidential version has been filed as well, and that's in the thinner document, the three-page letter.  

     MS. LONG:  So have the parties had an opportunity to take a look at these documents?  I understand that you have the non-redacted versions?  And is anyone planning on making any argument with respect to the confidential treatment of these documents?  Have you had enough time to consider it?  First question:  Have you had enough time to consider it? 

     MR. CROCKER:  No. 

     MS. LONG:  Second question, do you have submissions? 

     MR. BRETT:  Sorry. 

     MS. LONG:  So not enough time?  

     MR. BRETT:  Well, only speaking for myself, I haven't seen the document until this morning.  It was filed last night electronically at my office. 

     MS. LONG:  Okay.  Well, what we're going to do is we will give people an opportunity to take a look at it.  We will speak to it if people need to make submissions on this later in the day. 

     Thank you, Mr. Keizer. 

     MR. CROCKER:  Madam Chair, my initial thought is I don't understand why it would be confidential.  I would like to think about it some more, but just as an initial thought -- and I would also like some more time -- I don't understand -- despite what Mr. Keizer just said, I am not sure I understand why it would be -- it should be treated as confidential.  

     MR. KEIZER:  Well, if we want to make submissions on it now, I am happy to do so. 

     MS. LONG:  No, I think we will wait.  I would like -- I think Mr. Keizer has given his reasons as to why he thinks it should be confidential.  Parties may disagree with that, and we will give people an opportunity to make submissions on it.  I don't want to split this up.  So --

     MR. KEIZER:  Perhaps we as well could speak about it at the break with counsel and see if there is any greater clarity we can...

     MS. LONG:  That might be helpful.  Thanks.


So if there are no other preliminary matters, we are going to move on. 

     Mr. Crocker, you have 20 minutes today.  And do I understand that you're seeking more time to cross-examine the Navigant witness?  Because I got your original estimate, the Panel did, and you have come up against it.  You have 20 minutes left.  

     MR. CROCKER:  The original -- the original estimate didn't include Navigant.  

     MS. LONG:  Well, we asked for estimates with respect to the panels. 

     MR. CROCKER:  I won't be 20 minutes this morning.  I shouldn't be 20 minutes this morning. 

     MS. LONG:  I am more concerned about the time you are 

seeking for tomorrow, which would be outside the estimate that we have for you on capital.  So the Panel would like to hear why you feel you need an extra 30 minutes to an hour tomorrow.  

     MR. CROCKER:  Because the estimate that we gave you 

originally didn't include any estimate for Navigant.  

     MS. LONG:  Why did it not?  

     MR. CROCKER:  I don't know.  Why did it not?  

     MS. LONG:  We're trying to set a schedule here, and we're trying to schedule --- when people start saying they need an extra hour, if we did that for every intervenor for every panel, we would never finish this hearing. 

     So I am a bit confused as to why that would not have been included in your estimate for capital.  

     MR. CROCKER:  Whether we were right or wrong in not 

including it, we didn't.  

     MS. LONG:  Mr. Rubenstein, did you include it in your estimate for capital?   

     MR. RUBENSTEIN:  It will be included in it.  I think one of the issues was that when we provided the initial estimates about a week and a half ago, it was before we knew the Navigant witness was coming.  It will be contained within my two and a half hours. 

     MS. LONG:  I suggest you and Mr. Crocker could speak at the break about what you are both planning on focussing on, and get an estimate for us as to how much time you are going to need with the Navigant witness tomorrow.  

     MR. RUBENSTEIN:  Okay. 

     MR. KEIZER:  Actually, Madam Chair, as I understand it, Navigant is available because SEC and AMPCO requested that he be available.  

     MS. LONG:  I understand that, but we've been pretty clear, I think, every day speaking to the intervenors about timing and how much their estimates are.  So we are a bit surprised to hear, at this time, that we have a bit of a problem with the timing. 

     So I just ask you two to speak at the break, and see what the estimate will be for the Navigant witness tomorrow.  Thank you.

Mr. Crocker?

TORONTO HYDRO-ELECTRIC SYSTEM LTD. - PANEL 1 (resumed)


Elias Lyberogiannis, Previously Affirmed

Jack Simpson, Previously Affirmed

Angela Rouse, Previously Affirmed

Mike Walker, Previously Affirmed

Guillaume Paradis, Previously Affirmed

Robert Otal, Previously Affirmed
     CROSS-EXAMINATION BY MR. CROCKER (CONT'D): 

     MR. CROCKER:  Thank you, Madam Chair.

Before I get into the actual cross-examination, can I go back and ask two questions about things that seem to have been left hanging from last time?  

     We asked at lines 99 and 100 -- I'm sorry, page 99 to 100 of the transcript whether the status -- what did we ask?  

     I'm sorry.  They were going to -- I'm sorry.  Toronto Hydro was going to provide, took an undertaking to provide us at the break with conditions with respect to the    SCADA switches, and we haven't received that information.  It may not have been a formal undertaking, but whatever the information --

     MS. LONG:  Was an undertaking given?  I am looking at the list of undertakings given. 

     MR. CROCKER:  I am advised it wasn't a formal undertaking.  Let's leave that, and let's get to it at the break; we will ask them at the break. 

     MS. LONG:  Thank you.  

     MR. CROCKER:  And at page 9 of our compendium, the numbers in Ms. Grice's chart or table -- whatever this is,  table 4 -- 2006, 2007, 2008 and 2009 were not verified, the Board-approved numbers.  

     We were talking about 2010 going forward, and we would just like an undertaking now that those numbers could be asked -- we would like an undertaking that Toronto Hydro verify those numbers, that's all.  

     MS. ROUSE:  I believe there was an undertaking, J1.4, that addressed within the percentages that you're looking for confirmation on with respect to that page.  

     MR. CROCKER:  No.  I think we want the actual numbers for 2006 and 2007, 2008 and 2009.  

     MS. ROUSE:  So you're looking for confirmation that we agree with the Board-approved numbers in that table?  

     MR. CROCKER:  Yes, for 2008 and 2009, and the numbers for 2006 and 2007.  

     MS. ROUSE:  I can confirm we have checked those numbers, and we agree with the numbers.  However, with the actuals for 2006 to 2009, the Board-approved wouldn't include the smart meters piece, whereas the actuals would include those numbers.  

     MR. CROCKER:  Okay.  So the 271.3 for 2008, for instance, you're confirming that that number is accurate?  

     MS. ROUSE:  Yes, I am confirming that number is accurate.  


However the actuals won't include the smart meter CAPEX spent in that year, but I understand that was dealt in a separate proceeding.  So the Board-approved number wouldn't include that. 

     MR. CROCKER:  The same thing for 2009?  

     MS. ROUSE:  Yes, correct. 

     MR. CROCKER:  Can you provide us with 2006-2007 numbers, please?  

     MS. ROUSE:  Sure, we can do that.  

     MS. HELT:  So that Undertaking J4.1 will be to provide the Board-approved CAPEX numbers for 2006 and 2007.  

UNDERTAKING NO. J4.1:  TO PROVIDE BOARD-APPROVED CAPEX NUMBERS FOR 2006 AND 2007.  

     MR. CROCKER:  I just have two areas where -- well, first of all, I am going to save whatever cross-examination I might have or questions I might have on the new information that was filed last night after the discussion we have about that information at the break.  

     I therefore only have two areas where I have questions.  

Could I ask people to go to page 120 of the compendium?  Are you there?  

All I would like to know is whether the SAIDI and SAIFI projections here include or exclude major event 

days, supply loss and scheduled outages.  

     MR. PARADIS:  So if I could take you to Exhibit 2B, section E2, page 24, at the top of the page there, on line 1 we confirm that the projections do not include major event days, and loss of supply and planned outages would be included.

MR. CROCKER:  If you could go to page 136, please, of the compendium, these are -- this area deals with outages caused by defective equipment.  And if you could go over the page, please, what you have provided in table 2 are "five-year average SAIFI and SAIDI contributions by cause code," is what you have said.  

     With respect to defective equipment, particularly -- so that we can create a trend -- could you please provide annual numbers or annual percentages for, instead of the -- for 2009 to 2013, and also, I guess now, for 2014, so that we can create a trend and see where things are going?  

     MR. PARADIS:  So if I could take you to our response to EP 9 on page 2, so there what we have is year-over-year contribution of defective equipment to our overall statistics.  

     MR. CROCKER:  Great.  Thank you.  

     And if you could flip over the page, please, to 138 of the compendium -- and this may be just as simple -- could we once again have the year-over-year numbers to go with the averages that you provided, including 2014?

     MR. PARADIS:  So you would like the breakdown that is shown on this table for each of the years?  

     MR. CROCKER:  Yes, 2009 to 2014.  

     MR. PARADIS:  Sure.  We can do that. 

     MR. CROCKER:  For those categories.  

     MS. HELT:  Okay.  That will be Undertaking J4.2, breakdown for the years 2009 through to 2014 of the table that was provided in response to 2A AMPCO 21. 

UNDERTAKING NO. J4.2:  TO PROVIDE A BREAKDOWN FOR 2009 TO 2014 OF THE TABLE PROVIDED IN RESPONSE TO 2A AMPCO 21.  

     MR. CROCKER:  Thank you.  I have no further questions for this panel.  Thank you, panel.  

     MS. LONG:  Thank you.


QUESTIONS BY THE BOARD:  

     MR. QUESNELLE:  Madam Chair, if I could just ask for a point of clarification from Mr. Paradis. 

     Mr. Crocker took you to -- where are we here?  Exhibit 2B, section E2, page 24.  And you mentioned that the -- at the top of the page:

"We confirm that the projections do not include major event days, and loss of supply and planned outages would be included."

I take that to mean that the loss of supply and planned outages are also not included?  

     MR. PARADIS:  Sorry, they are included in the projections. 

     MR. QUESNELLE:  They are included in the projections?  

     MR. PARADIS:  Yes. 

     MR. QUESNELLE:  Okay.  Thank you.  

     MS. LONG:  Mr. Rubenstein?  

     MR. RUBENSTEIN:  Good morning, Panel.  I prepared a compendium of documents.  I am not sure if the Panel has it.

[Compendium passed out to Board Panel members.]

     MS. HELT:  We can mark it as an Exhibit 4.2 (sic), cross-examination compendium of Schools for panel 1.  

EXHIBIT NO. K4.1:  SEC CROSS-EXAMINATION COMPENDIUM FOR PANEL 1.
     MR. RUBENSTEIN:  It contains all material on the record except page 25, which is page 100 of the AMPCO compendium.  This was the table that they provided with respect to the asset condition assessment results.  My understanding, it was provided as well -- the underlying data to that that has been reviewed by Toronto Hydro.  

     MS. HELT:  My apologies, Mr. Rubenstein.  I'm not sure if I misspoke.  It should be K4.1.  I am not sure if I said K4.2.  It should be 4.1.

     MR. RUBENSTEIN:  I was wondering if I was missing something.


CROSS-EXAMINATION BY MR. RUBENSTEIN:

MR. RUBENSTEIN:  Panel, if we could turn up page 2, I just want to make -- quickly make sure we're all on the same page with regard to the capital numbers that you are seeking for approval for in this proceeding. 

     If I look at the chart, am I correct that the plan is to spend in capital in 2015 531 million, 2016, 519 million, in 2017 467 million, in 2018 470 million, and in 2019 502 million, for roughly 2.5 billion over the proposed plan term?  

     MS. ROUSE:  The numbers you've quoted for 2015 and '19 are correct, adding up to approximately 2.5 billion. 

     MR. RUBENSTEIN:  Thank you very much.  And this is on a CAPEX basis; am I correct?

     MS. ROUSE:  Yes.  That is correct. 

     MR. RUBENSTEIN:  We can agree that from 2015 to 2019 it is more than you will have spent for the previous five years?  

     MS. ROUSE:  That is correct, but there are significant large programs that we haven't undertaken in the past years as well, including Copeland spending and ERP, et cetera. 

     MR. RUBENSTEIN:  I understand all of the evidence and all of the reasons, but just if we can get that fact straight. 

     Now, can we agree that while CAPEX numbers are important, obviously -- but for rate-setting purposes what is even more important is in-service additions.  It's in-service additions that make up the number that translates into rates?

     MS. ROUSE:  Yes, it is the in-service additions that are an input into the revenue requirement. 

     MR. RUBENSTEIN:  And if we turn to page 3, this is the set of in-service additions that you are bringing into service on the table for each of the five years?  

     MS. ROUSE:  I believe this undertaking would be outdated, as we had filed an update for the Copeland change in February.  So this does not reflect that change. 

     MR. RUBENSTEIN:  Are you able to provide an updated set of numbers for 2015 to 2019 on in-service additions?

     MS. ROUSE:  Yes, we could do that.  

     MS. HELT:  That will be Undertaking J4.3. 

UNDERTAKING NO. J4.3:  TO PROVIDE UPDATED NUMBERS FOR 2015 TO 2019 ON IN-SERVICE ADDITIONS.
     MR. RUBENSTEIN:  And are you aware, based on the updated numbers, that the in-service additions that will go into service in 2015 or 2019 are greater than the capital expenditure numbers from 2015 to 2019?  Based on this, they are, but if this is not updated...

     MS. ROUSE:  Would you like us to add that to the undertaking?  

     MR. RUBENSTEIN:  I think it would be -- it will be self-evident, but I'm just wondering if you are aware, for the purpose of today, right now, if they are.  

     MS. ROUSE:  I haven't done the calculations, but subject to check, that makes sense. 

     MR. RUBENSTEIN:  So it is greater than the capital expenditure numbers?  

     MS. ROUSE:  Again, I would have to look at the numbers, subject to check. 

     MR. RUBENSTEIN:  Okay.  Okay.  Never mind.  

     Now, with respect to the in-service addition numbers, it is those that you are committing to in this proceeding to put into service in the given years, 2015 to 2019, for each of those years; am I correct?  

     MS. ROUSE:  Yes, those are our forecasted in-service additions based on historical averages or more specific information about discrete projects as it is available to us at the time of forecasting. 

     MR. RUBENSTEIN:  And what happens to me if you're late in bringing into service the capital expenditures that you are planning?

So for example, you bring in less in 2015 than you had planned to bring into service in 2015.  My understanding of the application is there is no mechanism to ensure a true-up for an over-collection for ratepayers; am I correct?  

     MR. KEIZER:  It's likely best that that would be addressed by panel 5, which I think is dealing with the regulatory matters, plus the implication for rates. 

     MR. RUBENSTEIN:  I am not seeking some detailed analysis.  And I saw the witnesses nodding their heads.

MS. ROUSE:  Sorry, I was nodding my head at Mr. Keizer as well.  I think that is better suited to the other panel. 

     MR. RUBENSTEIN:  So you're not aware -- well, let me ask you this question. 

     So would you agree -– so -- well, take it subject to check that there is no account to deal with variances.  Would you agree with me then that if you're not proposing such a mechanism, ensuring that the in-service addition numbers are accurate is incredibly important, that your forecast of in-service addition numbers is incredibly important?  

     MS. ROUSE:  Yes, I would agree with you that they are 

incredibly important into the revenue requirement model, and we make our best effort to forecast those numbers based on the best information we have available at the time of creating a plan. 

     MR. RUBENSTEIN:  So in this interrogatory, you provide an explanation of how you determined the in-service additions.  

     And correct me if I'm wrong.  My understanding of how you've done it is this.  For 2015, you used assumptions for the system access, system renewable and system service investment amounts based on historical in-service additions.  Am I correct about that?  

     MS. ROUSE:  Yes, that is correct. 

     MR. RUBENSTEIN:  So you didn't do it by program?  It is by category, by those three categories?  

     MS. ROUSE:  It was by type of work.  So all of our 

executable work program, we look at the historical averages with respect to how much of that spending goes into service each year from the current year spend and the prior year CWIP.  And based on those his historical averages, we have applied that to the forecasted CWIP and capital spending in that year. 

     MR. RUBENSTEIN:  So if I recall from the ICM proceeding, I believe it was, roughly 40 percent of the CAPEX spent in that year, your expectation was you were going to bring it into service. 

     Putting aside that specific number, is that what you're talking about when you say that?  

     MS. ROUSE:  Putting aside that specific number, as I think the context of that 40 percent was different than this situation, yes, that is what we're talking about. 

     So again, we would look at the current year spend and how much of that is coming into service, as well as how much of your prior year CWIP would be coming into service.  

So we would analyze both of those averages and use that as our forecasting tool.  

     MR. RUBENSTEIN:  Now, if the make-up of spending within a Board category -- so system access category -- is different than in the past, so you're doing more of a certain type of program than you were in the past, would that -- wouldn't that have an effect on the in-service additions that you will be bringing into service?  

     MS. ROUSE:  I think the reason that we can't forecast at a more granular level is at the time of putting the filing together, we don't have a calendarized work plan. 

     So regardless of how much is being spent in each category, it is still going to be dependent on when that work gets scheduled in the year, which will drive the in-service assumptions, because work that is scheduled to be completed in December might not go into service in December, given that there is a financial close-out period that also exists.  

     MR. RUBENSTEIN:  So then from my understanding, categories like general plant, the Copeland project and contributions to Hydro One, you do do it on an in-service date because you can project when you will bring those individual projects into service.  

Am I generally correct?  

     MS. ROUSE:  In some of those cases, you'd have to go down to the discrete programs; we might look at historical averages as well.  But because Copeland, for example, is such a large project, we're able to forecast based on the best information available at the time to determine when the major components would come into service. 

     MR. RUBENSTEIN:  Now, back to the system access renewal and investment category, has there been a change in what you forecasted from the ICM, the ICM CAPEX to ICA numbers to which you're forecasting now, based on experience?  

     MS. ROUSE:  Are you asking if there's been a change to the ISA assumptions?  

     MR. RUBENSTEIN:  So my recollection from the ICM proceeding is there is a certain percentage of CAPEX that you had forecasted would go into service that year.  Now you are looking at -- you know, now you have more information, and from what I understand, you're looking at what the actual past amounts were. 

     My question is:  Has there been a hang from the -- what you were using in the ICM proceeding to what you are using now in terms of the percentage of capital that will go into service in a given year?  Has there been a material change?  

     MS. ROUSE:  As I mentioned when you quoted the 40 percent from 2014, there was a special circumstance with that amount, because the 40 percent was associated with a subset of our capital program for that entire year. 

     So that 40 percent does not carry over into the 2015 to 2019 assumptions.  We do continuously refresh based on the latest historical information and trending that is available. 

So there will be differences in our historical assumptions applied to this proceeding compared to the ICM. 

     MR. RUBENSTEIN:  And because you are now doing -- there is a number of segments or new projects that you hadn't done previously, or larger amounts of work -– sorry, programs that you hadn't done previously, would you agree with me that, going forward, that would probably change as well?  

     MS. ROUSE:  Yes, we will continue to look for the best 

information possible when we do our forecasting. 

     Again, if we have discrete information available of a project, or calendarization of a work plan, we will take that into consideration.  In the absence of that information, we would use historical information. 

     MR. RUBENSTEIN:  So it would seem to me, at least because we're setting the amounts today for 2015 through to 2019, there's a high likelihood those numbers are going to look quite different. 

     MS. ROUSE:  I wouldn't agree with you that it would be 

significantly different. 

     Program by program, it could; the results could vary.  

However, because we are using historical averages and that best information available, I think it is fair to say that it will be within a reasonable range of the forecast on an aggregate basis. 

     MR. RUBENSTEIN:  Now, we talked about the total CAPEX you were going to spend from 2015 to 2019. 

     Would I be correct that those totals we discussed are not actually the true amount that ratepayers will likely end up spending for capital brought into service during the term plan?  It would likely be higher?  

     MS. ROUSE:  Can you repeat your question?  

     MR. RUBENSTEIN:  We were discussing earlier the capital expenditures that you're planning to spend and put into rates, in the conversion to in-service additions. 

     Am I correct that that's not actually the true amount that ratepayers will end up spending for capital spent during the in-service period?  

     I will provide you with what I am talking about.  My 

understanding is for externally-driven projects -- and this is at page 5 of our compendium -- you're forecasting approximately $119 million between 2015 and 2019, yet you are including only $20 million in rates during that same period, and you're seeking a variance account to capture the rest.  Am I correct about that?  

     [Witness panel confers] 

In our rate filing, there is approximately $4,000,000 for 2015 to 2019 that has been included within the revenue requirement for externally-initiated plant work. 

     And then in subsequent spending above that threshold, we have requested a deferral account to track any variances.

Mr. Paradis can comment on the reasons why we have structured it in that way.  

     MR. RUBENSTEIN:  Before he gets to why, I just -- so to be clear, you have put into rates 4 million per year, so that is $20 million into rates.  Am I correct?  

     MS. ROUSE:  That is correct. 

     MR. RUBENSTEIN:  And the application forecasts, though, 119 million you would spend between 2015 and 2019.  

     MS. ROUSE:  That is also correct. 

     MR. RUBENSTEIN:  And then there is a variance account that will capture -- if your forecast is correct, it will capture the remaining amounts, so the $99 million? 

     MS. ROUSE:  That is correct.  

     MR. RUBENSTEIN:  So when we're talking about the -- we talked about roughly 2 and a half billion dollars in capital expenditures.  You are actually forecasting to spend roughly $2.6 billion, then; correct?  

     MS. ROUSE:  Yes, that is correct, based on the latest 

information that we have available about the externally-initiated plant segment. 

     But there are reasons, as I stated before, that we have set it up in this fashion, so I would like Mr. Paradis to comment on that.  

     MR. RUBENSTEIN:  Sure.  

     MR. PARADIS:  Can you just clarify what you would like me to comment on?  

     MR. RUBENSTEIN:  Your colleague said you had something to explain.  I didn't ask.  

     MR. PARADIS:  I can provide some explanation as to why that amount was chosen and why the approach was chosen for the specific investment program. 

     MR. RUBENSTEIN:  Please. 

     MR. PARADIS:  And as we've detailed it to some extent in our response to SIA 22, we mentioned that this program in particular is greatly impacted by external agencies and their timelines and their commitment to certain investment programs of their own.  And that introduces for us a certain level of variability in terms of timing. 

     And since the driver for this work is very much connected to those external agencies' timing in terms of their own work, we felt it was fair for our customers to take a conservative approach in defining an amount and reconcile our spend at the end of the period once the work has all actually taken place. 

     MR. RUBENSTEIN:  Do you agree with me that 20 million out of a forecast of 119 million is a sliver of the total amount?  It is a small part?  

     MR. PARADIS:  4 million is in the range of what we have consistently incurred for this program in the past.  So we are -- in prior years we ranged anywhere between 1 million to $9 million for this program.  So we felt 4 million was a fair level of certainty, in terms of spending based on historical experience. 

     MR. RUBENSTEIN:  But if your forecast is correct, you will collect, when we come back in 2020 for the next rate-setting period, the 99 million?  If your forecasts are correct.  Or maybe more?  

     MR. PARADIS:  As mentioned, those type of projects are very much subject to variability in terms of the external parties that initiate the work.  Therefore we would reconcile at the end of the period, depending on what actually took place, and we would accurately reflect the level of expenditures associated with the program. 

     MR. RUBENSTEIN:  All right.  Thank you very much.  

     I want to understand how we got to the -- how you built the capital expenditure budget.  If I could take you to page -- this is at page 8 of the compendium.  

     So my understanding is the sort of first thing that you did is you determined, if we were going to achieve what you call steady state by the end of 2015, you would need to spend $2.56 billion in 2015, and then to keep that pace, 450 million in 2016 and through '19.  Am I correct?  That was...

     MR. WALKER:  Yes, that's correct. 

     MR. RUBENSTEIN:  And you realize that due to bill impacts, your own resources, and system constraints, you couldn't do that.  So if we move to what you would call an accelerated execution strategy, that would average $840 million of spending each year.  Am I correct?  This is on page 9. 

     MR. WALKER:  Yes, that's correct. 

     MR. RUBENSTEIN:  But then you realized that did not align with your own resources and system constraints as well, and there is also bill impacts, so you landed on what you have called the paced execution strategy, and that is what we have in this application that is on page 10.  Am I correct?  

     MR. WALKER:  Yes, that's correct. 

     MR. RUBENSTEIN:  Now, I want to understand how you arrived at these numbers.  So if we can just go back to page 8, and this is what I would call the "do it all in 2015" plan.  And I want to understand how you got to the number to do the $2.56 billion to have the entire system in a steady state. 

     My understanding of that is -- would be what you call the optimal intervention time that is using the economic end-of-life metric for all your assets; am I correct?  

     MR. WALKER:  Yes, that's how we define the steady state.  That's correct. 

     MR. RUBENSTEIN:  So you use the feeder investment model to reach that number?  

     MR. WALKER:  The feeder investment model determines that point.  That's correct. 

     MR. RUBENSTEIN:  Now, if we could turn to page 12 and 13 of the compendium, this was provided in response to Undertaking -– technical conference Undertaking J1.7.  This was the chart you provided by -- there was questioning during the evidence conference by Vice-Chair Quesnelle about the difference between economic depreciation -- sorry, economic end-of-life, depreciation end-of-life, engineering end-of-life. 

     Now, under economic end-of-life there are many asset 

categories that you do not actually have numbers for; you have "N/A."  Do you see that?

     MR. WALKER:  Yes. 

     MR. RUBENSTEIN:  So then how did you come up with the 

economic end-of-life for the full system if there are so many categories we actually don't have the numbers for?  

     MR. WALKER:  The economic end-of-life calculation is done when we have the right data to support that, and we don't have that in all cases.  So we also used the useful life as a determinant of when assets are past their serviceability, and that's part of this model as well.  

     MR. RUBENSTEIN:  So when we're talking about the optimal intervention time for your -- to get to the steady state, the $2.56 billion in the "let's do it all in 2015," if you didn't have the economic end-of-life data, what data did you use for those assets?  


[Witness panel confers]

     MR. WALKER:  I'm sorry, could you just repeat the question to make sure I answer it accurately?  

     MR. RUBENSTEIN:  Sure.  My understanding from the evidence and what you have said to me a few minutes -- or probably more than that -- was to get to the steady state, which is the optimal intervention time for your assets, you use the economic end-of-life output from the feeder investment model. 

     But my understanding is that for so many of the assets you don't actually have economic end-of-life data, and there is all these N/As.  How did you -- what did you do for the assets you didn't have that information for?  

     MR. WALKER:  Where we don't have the ability to calculate the economic end-of-life, we use useful life.  

     MR. RUBENSTEIN:  And that is what you call engineering useful life?  Is that the same thing?  

     MR. WALKER:  Yes, it is the same thing. 

     MR. RUBENSTEIN:  All right.  Thank you very much.  

     Now, when you move from the paced execution strategy to the accelerated execution -- or maybe I have those -- yes.  Sorry, when you moved from the accelerated execution strategy to the paced execution strategy, or what is in this application, how did you decide on the specific numbers?  Like, how did you get from spending roughly $840 million a year to the numbers in this application?  

     MR. WALKER:  There are four investment categories built into those numbers, first of all.  So we have system renewal, system access, system service and general plant. 

     The -- you know, we have requirements, projects we want to do in each of those categories.  So that's how we built up the overall cost.  

     For the renewal program itself, the paced approach looks at spreading those costs out over time beyond the five years of the CIR period in order to minimize the cost and the impact on rates more in line with what our current execution capability is, and that's how we determined what the spend level should be. 

     MR. RUBENSTEIN:  So is it a strict execution, what you're able to execute?  That's how you got to the number?  

     MR. WALKER:  I'm not sure what you mean by "strict." 

     MR. RUBENSTEIN:  Well, I am trying to understand -- let's just talk about the system renewal category using your -- there is a number that would be in the accelerated execution strategy.  Now, there is a lower number in the paced execution strategy, and I am just trying to understand how you got to that number, why it is not $100 million more or a $100 million less.  It seems to me there must be some reason that we're at the level that we're talking about in this application. 

     MR. WALKER:  Yeah, I would say it is in line with our current capabilities between our internal and our contract resources. 

     MR. RUBENSTEIN:  So if -- okay.  Can I ask you, then, to turn to page 9?  

     I am reading as line 5, and this is your explaining why the accelerated execution strategy doesn't work, and you say:

"However, the accelerated strategy would still feature levels of investment that do not immediately align to Toronto Hydro's current resources and system constraints and, most importantly, would result in steeper rate increases over the DSP forecast period that would likely be unacceptable to customers." 

     Now, your answer seems to me that it is entirely Toronto Hydro's current resources and system constraints, and it has nothing to do with bill impact.  That may just be an outcome of that, but that is not the reason? 

     MR. WALKER:  No, I'm sorry, that is the accelerated one you're looking at there, not the paced strategy?  

     MR. RUBENSTEIN:  Well, this is explaining here why you moved from the accelerated to paced.  

     MR. WALKER:  Yes.  The accelerated strategy, we're saying, is beyond our current level of resources and would have significant rate impact.  So we aren't proposing the accelerated strategy as a result.  

     MR. RUBENSTEIN:  No, I understand.  I just asked you a minute ago how you got from the number from accelerated to paced and you said:  Well, essentially it's because of our system constraints.  

     Now I am asking you -- here it says in your evidence that resources and system constraints is one aspect, and the second aspect -- and it says "most importantly" -- is that there will be steep rate increases.  

     MR. WALKER:  Yes.  But again, that is the accelerated one that we're talking about in this particular reference, not the paced approach. 

     MR. RUBENSTEIN:  But this is how you moved from the 

accelerated to paced. 

     MR. WALKER:  This is why we said the accelerated approach is not the approach we're proposing.  

     MR. RUBENSTEIN:  And I had asked you a few minutes ago how you got from the number from the accelerated to the paced.  You said:  There were system constraints, so we're doing what we can do based on the external contractors and our own resources.  

     Do you recall that part of the conversation?  

     MR. WALKER:  Yes. 

     MR. RUBENSTEIN:  But your evidence says that is one aspect, but the second aspect is rate increases.  

     And you didn't mention rate increase.  I am just trying to reconcile those two things.  

     MR. WALKER:  I'm sorry, I am struggling with this.

The paced approach, I said, was set to some degree based on our current level of resources, and we felt it had acceptable rate impacts.  

It is the accelerated one that we felt had unacceptable rate impacts.  

     So I am not understanding what you are asking me here, I'm afraid. 

     MR. RUBENSTEIN:  I will try one more time.  I asked you a couple of minutes ago how you moved from the accelerated to paced. 

     MR. WALKER:  Yes. 

     MR. RUBENSTEIN:  You said system constraints issues was how -- we couldn't do it at the accelerated level, but based on what we can do, based on our internal and external resources, we can do the paced amount. 

     Do you recall that part?  

     MR. WALKER:  Yes, that's correct. 

     MR. RUBENSTEIN:  The evidence says that is one aspect of it, but it is also rate increases.  You didn't mention anything about rate increases.  

     MR. KEIZER:  I think the witness has answered the question, because I think what the witness is saying when he gets to the paced approach, there's a reasonable level of rate increase in Toronto Hydro's view. 

     So I am not quite sure what is lacking in the answer that the witness has given. 

     MR. RUBENSTEIN:  Well, is that an outcome, because we 

couldn't do so much, ergo there will be less -- the rate increases will be less?  Or is that is a reason why we decided to move from the accelerated to the paced?

     MR. KEIZER:  I think that is what the evidence says, even from what you're quoting, which is that the accelerated has a steeper rate increase than otherwise.  So they looked to do something different. 

     MR. RUBENSTEIN:  I understand that is the written evidence.  The witness didn't say that, and I am trying to reconcile his explanation from what is here.  

     MR. WALKER:  I'm sorry, I think I did say that.  I said that in the accelerated situation -- in the 

accelerated example, the amount of work was beyond our current level of capabilities and the rate impacts were significant. 

     I then said that for the paced strategy that we put forward, it was within our current capabilities, and it had what we believe are more acceptable rates.  So I think I have answered your question, as near as I can tell.  

     I should also say that the paced strategy also -- you know, we don't just consider it from our execution capabilities.  We also feel that it is -- although not optimal, it is an acceptable plan from the point of view of mitigating the risks to our system, and that's why we put it forward.  

     MR. RUBENSTEIN:  So do I understand it that this is --your system constraints allow you to spend what we're spending today?  

     MR. WALKER:  Our system -- 

     MR. RUBENSTEIN:  What you are proposing to spend in this plan, based on your resource and system constraints. 

     MR. WALKER:  Largely, we have the capabilities today to execute that plan as it is outlined. 

     MR. RUBENSTEIN:  You don't have the capabilities to do more?  

     MR. WALKER:  Again, I wouldn't say -- it's a five-year 

filing.  We can increase our resource capability over those five years, if necessary. 

     We have been able to do that in previous years and there is no reason we couldn't do it moving forward, if we needed to. 

     MR. RUBENSTEIN:  So you're the system -- this panel is the system planners.  You come to management and you say:  This is what we can do, this is our system constraints, and this is the resources that we can plan. 

     Do you guys take into account -- the planners, not 

Toronto Hydro as a whole.  Do the planners take into account rate impacts?  

     MR. WALKER:  I want to be careful how we characterize this. 

     We are largely aware of rate impacts, you know, if you think of it from the point of view that $500 million versus a billion dollars obviously has a very different rate impact. 

     But it's not -- we're not doing rate calculations based on, you know, from our plans and then altering our plans as a result.  It's more of a general understanding of what the impact is.  


Our plans are really intending to look at what the assets need.  

     MR. RUBENSTEIN:  So when the system planners are designing the work program, you say:  This is what we can do, this is what we need to do.  And someone else in Toronto Hydro would say:  That's too much; you need to lower that.  

That's how the roles would work?  

     [Witness panel confers] 

     MR. WALKER:  What our system planners do is they identify the need, and there's no specific constraint on that need.  

If you think of the first example we put out, the optimal situation, that's the need.  If we had no limitations, that's what we'd be doing to eliminate the backlog.  

So that is the planner's perspective, if you like. 

     MR. RUBENSTEIN:  But there is also the system constraints, which I assume the planners would have to deal with?  

     MR. WALKER:  Well, they don't directly deal with that.  It goes through a process within our organization.  And there's a consideration of our resource capability, obviously our funding capability, that is considered in that.  But it's informed by the needs of the assets.  

If we felt the paced approach was too much of a risk, we would be looking for a larger program to manage the risks for our customers.  

     MR. RUBENSTEIN:  So you would design - you would say:  This is the amount of work we need.  Someone else says:  Well, we can or cannot do that amount of work based on the contractors we have, the ability to get material, all of those sort of things.  

Then someone else says:  The rate impacts are good or bad, or too high, too low?  

     MR. PARADIS:  Maybe just to give an example to clarify, at the planning stage we would account for technical realities that would create constraints in terms of execution.  

     So, for example, if we want to do a voltage conversion and we need capacity at a given station to actually supply the load from 13-8 rather than 4 kV, and in order to make that capacity available requires load transfer to a different station, we would account for that reality in defining the plans, knowing that there's a sequence of projects that is required to make that possible. 

     So those type of considerations would happen at the planning stage.  

     MS. LONG:  Mr. Rubenstein, sorry, just before you ask your next question, I just want to clarify, Mr. Walker.

You said:  Largely, we have the capability today to execute the plan.  What is the "largely" qualifying?  Are you qualifying that in some way?

     MR. WALKER:  No.  I guess what I was trying to suggest is that there's -- it's not an exact science, you know, what our plan is today to what our resource capability is today.  We don't go and say we have 10,728 hours of work and we have 10,728 hours of available labour. 

     So it's a general approximation.  We know what our total dollar capability is, in terms of our execution.  

We have seen what we have been able to do in previous years. 

     So we know that, you know, our plan as it is put together, the 400-and-something million of asset-based investments is within our capability, because we've been able to do that level in the past. 

     It's not like we have looked at every single job and labour-balanced it, as we call it, and said:  Yes, absolutely, we have people in place.


Does that help?  Does that answer your question?  

     MS. LONG:  Yes, it does.  Thank you.  

     Mr. Rubenstein?

     MR. RUBENSTEIN:  I want to understand about how we create -- the budget was created. 

     So would you agree with me that when you are looking at the capital budget, one needs to consider, when coming to the final number that the Board may or may not approve, the specific work plan you are planning to do and the cost to do that work?  Those are two separate things the Board needs to look at, and that is how you come to the final number, how many assets you are going to place, how many jobs, and then the -- is that appropriate, as well as is the cost to do that work appropriate?  There are two separate questions the Board needs to think about and you would have to think about to come to the budget? 

     MR. WALKER:  Sorry, are you asking me if we, as Toronto Hydro, feel those are appropriate?  

     MR. RUBENSTEIN:  Do you think that is an important thing to consider, is that not just -- is the amount of work you are doing, so the amount of assets you are replacing, appropriate, but the cost to do that work.

Those are two separate questions, and they're both important?  

     MR. WALKER:  Yes, I would agree they're both important.

MR. RUBENSTEIN:  So let me start by asking how you determined the budgets for each of the programs for each of the years.  And I want to walk through an example of a program, instead of obviously going through all of them. 

     So let me start with E6.1.  This is the underground circuit renewal program.

And my high-level understanding is that this is to replace end-of-life and obsolete assets that are underground, specifically switches, transformers and cables; am I correct?  

     MR. PARADIS:  Yes, you're correct. 

     MR. RUBENSTEIN:  And at page 15 the compendium there's the budget for 2015 and 2019 per year.  Do you see that?  

     MR. PARADIS:  Yes, I see that.  

     MR. RUBENSTEIN:  And this is a very significant project.  You'd agree with me?  Probably your largest individual program?  

     MR. PARADIS:  Yes, it is an important program.  

     MR. RUBENSTEIN:  Now, on page 16 through 20 you've provided the lists of specific jobs with total project costs for 2015.  Do you see that?  

     MR. PARADIS:  That would be 16 to 20 in your compendium?  

     MR. RUBENSTEIN:  16 to 21 in my compendium, yes.  It is the list -- sorry, I am using the term "jobs," but "projects" for 2015.  


MR. PARADIS:  Yes, I see that. 

     MR. RUBENSTEIN:  There is a project name and a total project cost.  Do you see that, for each one?  

     MR. PARADIS:  Yes, I see that. 

     MR. RUBENSTEIN:  Then on page 20 to 23 is an -- for each of them you have one of these, and this is a more in-depth project description where you talk about the assets you are going to replace and various reliability metrics and some details.  Do you see that?  This is just an example of one of them. 

     MR. PARADIS:  Yes, I see that. 

     MR. RUBENSTEIN:  You don't have any of those lists for 2016 and 2017, '18 and '19, just for 2015.  Why is that?  


[Witness panel confers]

     MR. PARADIS:  So the way we build our work program is that in the course of the year prior to the actual execution of the work, our program management team reviews the list of proposed work, sets the availability of resources for the coming year, also accounts for certain realities related to scheduling, and starts working on developing an execution work program that would include the specific jobs that will go ahead in the year coming up. 

     So at the time of this submission, we had gone through the initial stages of that exercise for the 2015 program, and the development of future-year programs was still pending, as we do that more generally the year prior to the work being executed. 

     So those details were not -- or are not available for the year beyond 2015.  

     MR. RUBENSTEIN:  You don't know the specific project -- just make sure I get the right -- projects you're going to do yet for 2016 through 2019 for, let's say, this program?  

     MR. PARADIS:  So we largely know from a planning standpoint what work we want to undertake in each program. 

We realize that the specific circumstances of the execution of the ongoing program have an impact on timing for future years in future projects, but from a planning standpoint we largely know where we need to take action in future years.


MR. RUBENSTEIN:  So you have a sense of:  We're going to do the work in this area of the city.  We just don't have the jobs defined yet -- or, sorry, the programs defined yet.

MR. PARADIS:  We have the programs defined.  The specific -- 

     MR. RUBENSTEIN:  Sorry, projects.  I am mixing up the language.  You know:  We're going to do work, we have to do work in this part of the city and these streets, but you don't have the specific projects defined and scoped yet.  

     MR. PARADIS:  Not to the detail -- the level of detail that is required to be incorporated into a work program.  

     MR. RUBENSTEIN:  So if we can turn to page 24 of the compendium, here you are listing the amounts of specific assets you are going to replace.  Do you see this?  

     MR. PARADIS:  Yes. 

     MR. RUBENSTEIN:  Do you see that?  

     MR. PARADIS:  Yes, yes. 

     MR. RUBENSTEIN:  So if you know the amount of switches, transformers, cables that you are going to replace -- and those are some specific numbers here.  That's not -- you know, there's some detail here, and you know the budget for that year.  How exactly do you get to the budget?  If you don't have the actual programs -- sorry, projects scoped, how do you get to the budgets for 2016 through '19?  

     MR. PARADIS:  So from long-term planning, we know the assets that we're targeting for replacement, and that's based on health, that is based on age.

What we don't have are these exact details of the jobs that will allow us to address those assets. 

     So in a specific instance, a designer, as they work through the details of the required project, may decide to install an additional transformer or, you know, move a switch location.  Those type of more specific operational details associated with the work are not available at this time for future years.  

     MR. RUBENSTEIN:  So for 2019 you're going to do -- or at least at this point the forecast plan is to replace 88 switches, 361 underground transformers and 155 underground kilometres of cable, and you are going to do it at a budget of $99.5 million.

I am just trying to understand how you get to that number if this is all so undefined at this point.  


[Witness panel confers]

     MR. PARADIS:  So for certain programs we have specific assets that would drive our assessment of costs.  So for example, station assets being very discrete, we may have more of an opportunity to use the specific assets to determine the cost. 

     In the case of a program like the one shown here for 

underground circuit renewal, what we have is an understanding of the historical costs associated with replacing those types of assets and those approximate quantities of assets.  

     MR. RUBENSTEIN:  So my understanding from the AMPCO motion, though, and the Rouse and, Mr. Walker, your affidavit is, I mean, that seems to me a unit cost.  You're looking at the unit cost to replace those assets.  

But from my understanding, you couldn't do 

it for this category, and that has no meaning.  That's what I took away, at least, from those affidavits.  But it seems like that is what you're actually doing.  

     [Witness panel confers] 

     MR. WALKER:  The costing that we use when we're forecasting out is more of a trending of costs.  You know, it's comparable levels of spend relative to the number of assets that we're intending to address. 

     But the unit costing that I spoke about in my affidavit is really talking about productivity, and using unit cost as a means of managing productivity.  

     And that's where unit costing is problematic for us, because of the variability in cost.  

     Over big, broad, large numbers of expenditures, if you like, average costing is a reasonable reflection of what we think it will cost to do that kind of work.  

But the details, when we're actually constructing a pole, as I said, in downtown Toronto versus a pole in the north end of Scarborough, are going to be very different. 

     So from a productivity perspective it doesn't make sense to use unit costs. 

     MR. RUBENSTEIN:  Well, I took from your affidavits that it was more than just you don't like the implications that someone may draw from it with respect to productivity.  You just couldn't do it for these assets.  

     Am I -- am I wrong?  

     MR. WALKER:  What I said was that to determine the unit costs for work that we had already completed at the level that was requested in the AMPCO motion would require us to go into a very detailed analysis, and that is because it isn't, you know, a standard set cost. 

     We would have to look at every individual job, project, and determine, you know, how many of those assets were installed for that job and calculate the number.  

     MR. RUBENSTEIN:  So are you able to provide, for 2015 and 2019, the chart on page 24, and provide the costs to replace, in each of those years, a switch, a transformer, an underground cable, the average cost?  

     [Witness panel confers] 

     MR. WALKER:  At these level of numbers, providing that cost is not going to represent the cost of that particular asset itself.  

     For different installations, we may be installing -- you know, we might have between transformers longer runs of cable on one job than another, and those costs get bundled up into that average when you're looking at it. 

     So, again, it would be not very useful, in my opinion, to -- you know, to try and say that that's the cost of installing a transformer in that program in 2019.  

     MR. RUBENSTEIN:  I want to know what you're using.  And it seems to me you are using, to budget in this application, a cost to replace a switch, a cost to replace a transformer and a cost to replace a cable.  

I just want to know what you are using.  

     [Witness panel confers] 

     MR. PARADIS:  I have to go back to my previous answer regarding forecasting costs based on historical levels. 

     So what we do is we look at the intended suite of work, the areas that we want to intervene in, and then we compare that to the areas we have addressed historically and the costs associated with addressing those areas.  

That allows us to create a projection of what we expect the costs to be in future years for similar 

programs.  

     MR. RUBENSTEIN:  I'm now more confused.  I just want to talk about -- I don't want to talk about other programs. I just want to focus on E6.1 here; this is the underground system renewal. 

     You have, on page 24 of our compendium, specific numbers of assets you plan to replace, and you have total budget. 

     My understanding from what you said a few minutes ago was that, based on past costs, you're able to come up with the average.  And you may not say the average is a meaningful number, but there is an average number of cost to replace a switch, cost to replace a transformer, cost to replace a kilometre of cable, and that is how you get to the budget. 

     Is that not correct?  

     [Witness panel confers] 

     MR. PARADIS:  The number we arrive at is not a 

multiplication of the number of units times an expected cost per unit that would yield, you know, the budget for the year. 

     It's, again, more based on areas that we plan on targeting, the scope of the work and how that is -– what those projects of similar nature cost in the past, and we arrive at a projection for what is intended in that year.  

So it is not a direct multiplication of number of units addressed times an average cost. 

     As I mentioned earlier, the specific number of units 

will be determined in a more final way once the design for each area has taken place, and those specific number of units may change slightly, depending on the circumstances of the specific jobs at the time of the design.  

     MR. RUBENSTEIN:  No, I understand that.  

     What I am trying to just understand for 2019, where you don't have -- from what I understood is you don't have -- you don't know what the jobs are going to be.  

You may know in a sense:  We're going to be working in some part of the city, but you don't know the jobs. 

     I am just trying to understand, you know, how the numbers are derived.  

     You're saying:  Well, we look at the past and we look at the type of work.  But if you don't know with any detail what you're going to do in, say, 2019, how do you come to a number?  

     Is it simply an art, sort of just really just estimating?  Or is there, you know, a mathematical basis underlying these numbers?  

     MR. PARADIS:  Again, I wouldn't call it an art, although some might.  But it's a reflection of what we've incurred historically to do similar type of work. 

     And over the years, as we undertake those type of projects and gain familiarity with, you know, what may arise during the course of the construction of such projects, we come to understand how much work generally gets done for a certain amount of expenditure.  

And that's what allows us to define a budget for future years, understanding the areas that we hope to target at that point.  

     MR. RUBENSTEIN:  Let me provide you with some very 

simplistic examples. 

     Really you're only doing two sets of projects, two 

projects in 2019; one was in North York and one was in downtown.  My understanding, from the evidence we have heard so far, is it is more expensive to do things downtown.  Am I correct about that, generally?  

     MR. PARADIS:  Again, short of understanding a specific 

location, generally it is likely that downtown would be more expensive. 

     MR. RUBENSTEIN:  So if you had -- so my understanding, then, is what you're saying is you know then what the average costs to do a job in North York is, and an average cost to do a job downtown, and that is how you come to the numbers.  It is not an average of the two jobs --

MR. KEIZER:  I think the witness has answered the question.  He has indicated, I think at least three times, that it is based upon historical considerations, it is based upon their understanding of what they're able to accomplish, based upon areas of the city they're targeting at that time, and they're able to develop projections. 

     I don't think in any part -- he's already answered that question. 

     MS. LONG:  I am not sure, Mr. Keizer, I understand the answer to the question.  I think what the witness is saying is that he's not using a per-unit cost.  So if you look at 2019 underground switches, 88, you're not then applying a unit cost to that?  You're coming up with a projection some other way? 

     And he may be taking into account, I guess, other variables, but I think I am still not clear on how you are actually arriving at that number.  

     MR. PARADIS:  So as I was saying, we do not apply a unit cost for those units.  We just generally look at the specific area.

So for example, neighbourhood in a certain part of the city with a certain amount of load and a general set of characteristics -- so neighbourhood versus a more arterial road -- we have some sense of how costly those projects have been in the past, and so we would look to apply similar costing to that project. 

     And that's how we would build a total cost for the program, as opposed to defining the specific assets, which are likely to change as we design the work, and simply applying some multiplication of a unit cost to those assets.

MS. LONG:  What do you start out with as a base?  I mean, I might understand if you started out with a unit price as a base, and then, as Mr. Walker said, there are different considerations.  You know, maybe it costs less to do ten years ago, and you added a multiplier, or maybe you are doing it, you know, at the corner of University and Wellington, and so you are adding a multiplier to that. 

     But I think I'm not quite understanding what your starting point is if you are starting this job and it's different, let's say, than another job.  Like, what is the base that you start with?  

      Sorry, Mr. Rubenstein, I didn't mean to take over here.  I am just trying to understand. 

     MR. RUBENSTEIN:  Please.  Better luck.  

     MR. WALKER:  I think the base, if you like, that we start from is the historical costs that we've seen for similar kinds of work. 

     We're not at a level of detail at this point where we're saying, you know, we're going to be replacing the plant from this point to that point specifically, and therefore it is going to cost this much on a unit basis. 

     It is more looking at, for this kind of an area that has similar characteristics to what we've done in the past, this is what that cost would represent. 

     It's not intending to get to anything more detailed than that, because that will happen at design, and all we're doing right now is projecting out what our costs are going to be to address those assets on a larger scale.

So I am not sure that is helping.  

     MS. SPOEL:  Mr. Walker, I'm just looking at the numbers, and I notice if you take the numbers on table 1 that's at page 24 of Mr. Rubenstein's compendium, it appears to me, without calculating all of them -- I have done the calculation for the first one -- that you have -- from 2015 to 2016 you have about a 16 percent decrease in each of the switches, the transformer and the underground cable numbers.  And correspondingly, you have about a 16 percent or so, 17 percent decrease from the 2015 number to 2016 number of spending. 

     So it seems to me that you have taken -- and looking across the table, your 2018 and 2019 numbers are virtually identical on table 1 as they are on table C, which has 99.7 and $99.5 million.

     So it appears, from the numbers, there in fact is an arithmetic equation that relates to each year, and it is simply a percentage -- if you take each of those numbers, there is a percentage increase or decrease evenly across all the categories for all the years. 

     So it seems to me that you're coming up with your 99 million or whatever in 2019, must be 88 times X and 361 times Y, and 155 times Z, because there is an even relationship between all those numbers across all five years, it would appear.  As I say, I haven't actually calculated them all.  I did one set. 

     Maybe you might want to take that away and look at it and see if in fact -- I mean, to my mind it makes sense that you would say, you know:  In general on average when we do a transformer station, there is approximately this many switches and this many transformers and so on, and so it's going to cost approximately this to do this amount of work. 

     But it would be nice to know what those numbers actually were, if that is the way you have done it, because it appears from the numbers presented that that is probably what was done.  Maybe not by your group, maybe by someone else, but it would be useful to know.  

     MR. KEIZER:  We will undertake to clarify that.  

     MS. SPOEL:  Thank you.  

     MS. HELT:  That will be -- 

     MS. LONG:  Mr. Rubenstein, is now an appropriate time for a break?  

     MR. RUBENSTEIN:  Okay. 

     MS. LONG:  We will come back at 11:25.  Thank you.  

     --- Recess taken at 11:02 a.m.


--- Upon resuming at 11:27 a.m.

MS. LONG:  Please be seated.

Mr. Keizer, have your witnesses had a chance to reflect on the questions that the Panel, specifically Member Spoel, posed to them before the break?

     MR. KEIZER:  I was dealing with other matters over the break, and did not have a chance to converse with the panel in that regard. 

     I am sure they have given it some thinking, the questions and the format in which they would respond to it. 

     I am not sure of --

     MR. PARADIS:  Yes, we have had an opportunity to consider the question.  So I think what may be helpful is maybe a variant of the explanation I provided before. 

     The approach we take to define a budget is we look at areas that we want to take action in and our engineers, as they plan for future years in areas they want to target, and understanding the circumstances of those areas, put together a high-level cost for what it will cost to address that area. 

     Those projects, high-level projects, get aggregated into a cost for the program.  The units flow out of the aggregate cost.

So you were right in mentioning that it seems to be the same proportion.  What was done was applied the relative proportion of each asset for 2015 to future years, based on the identified spend for that program. 

     So the aggregation is done for the program.  The units flow out of the overall expected costs for the program.  

     MS. SPOEL:  So what you're saying is:  If we have a budget of $50 million, we can do this much work.  If our budget is $100 million, we can do twice as much work.

It works backwards that way, in effect?  

     MR. PARADIS:  I wouldn't characterize it exactly that way. 

     What we've done is -- for future years it is an assumption of the relative outcome in terms of assets being replaced for that amount of money.  And we used 2015, where we had details of all of the jobs, as the representative example of the assets that would be addressed for the amount of money in future years.


Does that make sense?

     MS. SPOEL:  Yes, it does.  Thank you.  

     MS. LONG:  Mr. Rubenstein?

     MR. RUBENSTEIN:  Thank you very much.  I am going to move on to another area.  

     We were talking earlier about the costs to do the projects.  I actually want to do the amount of work you are doing in each program, and the amount of assets you are planning to replace. 

     Again, I am going to use E6.1, the underground circuit renewal, and use that program as an example and walk through that. 

     Now, I'm correct that -- we clearly talked about this this morning, that you're going to be replacing underground transformers in this program; correct?  

     MR. PARADIS:  Yes, that's correct. 

     MR. RUBENSTEIN:  If I could take you to page 25 of the compendium, this is from AMPCO's compendium and they provided you the data.  This is essentially an analysis from their -- from your asset condition assessment.  

     Are you familiar with this table?  

     MR. PARADIS:  Yes, I am. 

     MR. RUBENSTEIN:  Now, when we're talking about underground transformers you plan for a place, am I correct that those are submersible transformers, vault transformers and pad-mounted transformers?  

That is on lines 9, 10 and 11.  Is that the transformers we're talking about, the underground transformers?  

     MR. PARADIS:  Yes, generally those would be the 

transformers.  

     MR. RUBENSTEIN:  Now, if I look at that on lines 9, 10 and 11 of page 25, I see a total of 33 transformers that are in very poor or poor condition.  Do you see that, those three transformers types?  

     MR. PARADIS:  Yes, I see that.  

     MR. RUBENSTEIN:  If we go back to page 24 of the compendium, this is how many you're going to be replacing.  And what I see is for 2015 alone, you're planning to replace 348.  Do you see that?  Am I correct about that?  

     MR. PARADIS:  Yes, I see that. 

     MR. RUBENSTEIN:  So that would seem to me more than ten times those currently in poor or very poor condition; correct?  

     MR. PARADIS:  Approximately, yes.  

     MR. RUBENSTEIN:  And that seems reasonable, that that is how many you should be replacing?  

     [Witness panel confers] 

     MR. PARADIS:  Yes, that seems reasonable. 

     MR. RUBENSTEIN:  Can you explain?  Because it doesn't seem reasonable to me and I am trying to understand why. 

     MR. PARADIS:  Yes.  So for replacement activities, when we plan intervention, we consider a variety of factors, one of which is health. 

     As we mentioned in a few places in the evidence, we also consider age for those assets.  And in particular with the case of submersible transformer, another consideration would be the multi-taps being installed with those transformers -- so transformers that are not currently switchable -- and the impact that does have on our operations when failures do occur. 

     So those considerations combined together would be factored in when we make decisions, in terms of investments. 

     MR. RUBENSTEIN:  But we're not talking about a few more transformers.  We're not talking about two times; we're talking about ten times the amount of transformers you're planning to replace in what would be in poor or very poor condition.  

That seems like a very large gap, and I am just trying to understand why it would be reasonable for ratepayers to pay for the replacement of so many of these assets that would seem to be, at the very least, in fair condition.

[Witness panel confers] 

      MR. PARADIS:  So if I could take you to our ACA audit document prepared by Kinectrics, the reference is Exhibit 2B, section D, appendix A.  

In that document on page 14, there is specific discussion of the trends that were identified by Kinectrics in reviewing ACA results for transformer populations. 

     In the case of submersible transformers, the finding was a very significant decline in health during the 2012 to 2014 period, where 58 percent of the population that was previously in very good condition was now declined to another level of health. 

     Now, as well for vault transformers, there is an 

identification of a reduction of 12 percent in the number of assets identified as very good, and for pad-mount transformers a reduction of actually 43 percent of assets being classified as very good.  

     So in this case, the population overall is showing a decline in terms of health.  And as we mentioned in other instances, age being an important factor in the likely age of assets -- sorry, health of assets in the future, a trend of that nature -- which is significant, as highlighted by Kinectrics -- is something that we also want to consider in making decisions with regards to our investment. 

     So for each area that we target, we would look at the needs of that area in terms of existing health and other asset populations, and we would look at the age of those assets. 

     And in certain instances if the age is past useful life and the asset is still potentially in fair condition, we may deem it necessary to take action on that asset prior to the asset being in poor or very poor condition.  

     MR. RUBENSTEIN:  And is this -- we can maybe turn to it.  It's at page 45 of the compendium.  This is -- sorry, it is not page 45.  This is page 47 of the compendium, and this was an undertaking response you provided, I believe, on Friday, where you talk about -- and this is at line 18 -- that asset condition is not the primary driver, but it's age-based probability.  Is this what we're talking about here?  

     MR. PARADIS:  Yes.  

     MR. RUBENSTEIN:  At line 21 you say essentially, you know, that you only look at condition if the condition base results exceed the baseline failure probability produced from the age-based calculation.


MR. PARADIS:  Yes, that's correct. 

     MR. RUBENSTEIN:  So if I understand, what this undertaking is saying is you will only look at condition if the -- if the condition of the asset exceeds what one would expect the condition of the asset of that same age.  

     MR. PARADIS:  We look at condition where the information that we obtained from our maintenance programs and our inspections identifies degradation and deterioration that isn't aligned to what we would expect for a certain age of an asset, and therefore indicates potentially a more rapid deterioration where age alone wouldn't be reflective of the true probability of failure of that asset.  

     MR. RUBENSTEIN:  But does it go the other way?  Condition is better than one would expect?  


[Witness panel confers]

     MR. PARADIS:  So if I can take you to BOMA 31 --  

     MR. RUBENSTEIN:  Mm-hmm.  It is actually in the compendium at page 44 to 46.  

     MR. PARADIS:  Okay.  So what we state on line 22 is that:

"Condition-based probability information is used in this manner due to the fact that the Health Index in itself represents a 'defect' analysis."

     So what we say there is that the health index is an identification of defects.  It's not an identification of non-aging, if I can use that term.  

     So the age of the assets still dictates the probability of failure.  Health index can modulate that, if you will, if the results of our inspections and our maintenance programs identify deterioration beyond what would be expected and defects that are likely to lead to failures.  

     MR. RUBENSTEIN:  So if I can ask you to turn to -- and I apologize.  This is not in the compendium.  This is 2B, E6.1, page 31.  

     So what this chart shows to me, that is on the screen, is that looking at your switches and transformers, you have a lot of them, almost 9,000 of them or 8,500 of them -- somewhere between -- that are at their end-of-life.  Am I correct?  

     MR. PARADIS:  That's correct. 

     MR. RUBENSTEIN:  Now -- but then when I go back to the asset condition assessment for transformers, it seems to tell a very different story.  It seems to be -- there is such a gap.  It would seem to tell me that the number you're using for useful lives in this chart is really not actually representative of what the actual useful life of these assets are.  Significantly longer.  


[Witness panel confers]

     MR. PARADIS:  Can you just repeat your question?

MR. RUBENSTEIN:  It seems to me -- looking at that chart on the screen and the asset condition assessment -- that if you have so many -- if you have so many of your assets that are supposed to be at the end of your useful life and yet so few at the very poor and poor asset condition assessment, that tells me that there is a problem and there is some disconnect. 

     Is the reason for that that the actual -- what you're using as end-of-life is really not the end-of-life of these assets?  They can last a lot longer than, you know, whatever the engineering analysis said that they were supposed to last?  

     MR. PARADIS:  So as I mentioned before, the health index is meant to identify defects that are indicative of earlier deterioration or premature degradation due to the operating environment, but the apparent disconnect between the health index distribution and the age of the population can be reflective of various factors, one of which is the availability of data to calculate a health index for a given asset. 

     So we, when we inspect locations, take certain data points -- for example, examples of rusting, examples of flooding in the vault -- but will not submit or subject each asset to an extensive battery of tests due to cost considerations, due to time considerations, that would potentially lead to more refined assessment of health. 

     So although it may appear that there is a disconnect, age has shown over the years to be a good predictor of risks of failure, and in this case the age is indicative of the state of the population. 

     Furthermore, as I pointed earlier to the ACA finding -- Kinectrics finding in reviewing our ACA, the trend in terms of the health of the population also tends to support the conclusion that this asset base, as shown on page 31, is aged and is deteriorating at a pace that requires addressing in a timely manner.  

     MR. RUBENSTEIN:  One last question.  And I want to understand how this feeds into the feeder investment model, so I have an example.

If I have two assets -- they're the exact same assets and the same age.  One is at the health that one would expect an asset of that age to have, and one is significantly better.  Are there different scores that would come out of that machine -- or, sorry, the model?  

     MR. OTAL:  No.  If you have an asset -- if you have two assets and you're saying the first asset has a health index that aligns to what you would expect out of the age-based failure probability curve and the other one is better than the baseline, as per the condition, you're still going to have the same age-based failure probability result, because that would be the baseline calculation based on the age of the asset.  

     MR. RUBENSTEIN:  So why would that be appropriate, then?  I understand that is how the model works, but it would seem to me that if one is better, then one would expect it should have a -- the score should be different.  

     [Witness panel confers] 

     MR. OTAL:  It would be due to the fact that the health index is a defect analysis. 

     It's not telling us whether the asset is healthier.  There is no -- we have degradation factors within the health index formula, but there are no specific factors that would improve the lifespan of that asset within its formula.

So the age-based failure probability will take into account -- I mean, it takes into account those same degradation factors, but it's the typical or the expected failure probability, based upon the age of the asset.

 What the health index is really allowing us to do is it's telling us whether the asset in question is failing at an accelerated pace when compared to the age-based result, based upon that health index score.  

     MR. RUBENSTEIN:  So there is nothing in the feeder 

investment model that -- putting aside the health factor, there is nothing in that feeder investment model that would show or that would create a different result for an asset that is doing better than one would expect of an asset of that age?  

You don't have the data to -- you just can't do it? 

     [Witness panel confers] 

     MR. OTAL:  I mean, we will always take into account the health index score; that goes into the feeder investment model as an input.  

     But when we determine that the asset is at a failure probability –- like, given the age when we have determined that it is aligned to the baseline failure probability, then it will be at that baseline failure probability. 

     The health index will only be considered within the 

calculation to indicate whether the asset is accelerating, in terms of its failure probability, from the baseline calculation.  

     And we feel that is a reasonable approach, considering the fact that, you know, the age-based calculation is taking into account all of those same degradation factors, but it's the average failure probability for the age of that asset.  

     MR. QUESNELLE:  Mr. Rubenstein, if you are going to be 

leaving that area, I have one more question on that. 

     This goes back to -- I think you and I had a conversation, Mr. Walker, back in the evidence conference, and it's the connection in the analysis of how the age degradation or the expectation of age and useful life is informed by your health inspections and the health of the assets. 

     I was looking for that.  Is there a looping there that ever occurs?  It strikes me -- and this goes to Mr. Rubenstein's questions on the disconnect or the apparent disconnect in the number of assets showing on the screen in the left-hand column here that are at end of useful life, but yet a very smaller amount are actually showing, from a health index perspective, as being in a smaller category. 

     And yet you're designing a program on your inspections.  I think, Mr. Paradis, you described it as:  We're not going to put all of the assets through a battery of tests.  But it strikes me you're taking that sample group as a proxy and designing a work program around it. 

     Isn't that the same as informing your age degradation by a sample of asset health cohort?  

     MR. PARADIS:  I want to make sure I address the question there.  

     What I said is that we look at the age of the population -- and, of course, failures on the system -- to determine where to take intervention. 

     The ACA would supplement those considerations when 

assessing interventions in certain areas. 

     So, for example, if we were to identify that a specific neighbourhood had a series of transformers in poor and very poor health, we may choose to take action even faster, or prioritize that investment ahead of others in our program -- even in certain instances, do so reactively. 

It's one thing we didn't touch on, that in cases where there is an inspection done and an asset is identified to be in a state that is unsustainable or likely to 

lead to imminent failure, we would actually take action reactively and address the asset prior to, you know, any planned activity taking place. 

     So in those cases, the very worst assets would get removed on the spot, if you will, immediately, in anticipation of possible failure. 

     So at the planning stage, we look at the set of assets that constitute the system in the area and their age distribution to determine whether or not it is cost-effective or prudent to actually take action in the neighbourhood.  

And back to the point my colleague made earlier, if we have indication through health indices that the deterioration is faster than expected, that would actually be considered in the probability and risk of failure, and that would be part of the business case evaluation 

that we would do for the project. 

     MR. QUESNELLE:  With my question in mind, maybe you could respond again to the question from Mr. Rubenstein on the apparent disconnect. 

     I'm still not catching how you would have so few in a 

population showing severe health indices, and yet how that informs your end-of-life for the same group of assets.  

     [Witness panel confers] 

     MR. PARADIS:  I would have to go back to the point I tried to make earlier, which was the extent of our inspection data collection is somewhat limited to what's readily available for that asset. 

     Going back to my example of a transformer, we wouldn't 

necessarily -- in fact, we wouldn't do oil testing for 

distribution transformers, which may, for example, be a better indicator of degradation in terms of the insulation of the transformer. 

     So it is possible that the health index that is reflected for a certain population isn't a precise representation of the health of that population, because of that lack of information. 

     MR. QUESNELLE:  So if I could stop you there, that is my point that I was making earlier.  My question earlier is that you then are taking a sample group of health indices and extrapolating that over a population to come up, for planning purposes, a population which is deemed to be at end-of-life; is that correct?  

     That's all I'm hearing as to how you would bridge that gap in the two sets of numbers.  

     MR. PARADIS:  So I think there are two things, and it's detailed specifically in the Kinectrics report.

But for cases where we don't have a full coverage for the population in terms of health indices, what we would do, if there's a sufficient number of assets that do have health indices, we would use that sample set of assets with health indices to extrapolate to the rest of the population. 

     What I am trying to say for the example of the transformer is that the health index itself and its formulation, how it is calculated and what data it accounts for, may not be fully representative of the health of that asset.

And what we were trying to say earlier is that in those cases, age is actually based on our experience with failures, and age is a good representation of the risk of failure associated with those assets. 

     So in the specific case, we would consider quite strongly the demographics of that asset class in defining the program and the level of attention it requires, or investment it requires. 

     MR. QUESNELLE:  So that is based on your empirical knowledge of when the failures take place, or a correlation between health of the asset and its age?  

     MR. PARADIS:  It would be based on our experience with 

failures and the age at which those failures occur.  

     MR. QUESNELLE:  Thank you. 

     MR. PARADIS:  Yes. 

     MR. QUESNELLE:  Okay.  Thank you.  

     MR. RUBENSTEIN:  If I could ask you to turn to page -- just go back quickly to page 26 of the compendium, table 3, the capital expenditure summary table, my understanding from the evidence is that for inflation, year-over-year inflation for capital between 2015 and 2019, you have actually not built it into the specific programs, but it would be included in a line item under "other capital."  Am I correct about that?  

     MS. ROUSE:  Yes, that's correct.  And in interrogatory 

response 2(a), SEC 14, we do highlight there in part (a) that we did that for transparency purposes.  

     MR. RUBENSTEIN:  That was my question.  So you did that to normalize, essentially, so we can compare year over year?

     MS. ROUSE:  Sure, yes.  For transparency purposes, so that you could see the underlying costs that were put forward without the inflation costs factored in. 

     MR. RUBENSTEIN:  Now, if inflation is separately broken out for those reasons, would productivity and efficiency also be broken out into a separate line item, where you would show sort of the year-on-year reductions to take into account productivity and efficiency of your capital program?

MR. WALKER:  The productivity improvements that we're expecting are not specifically costed out in those numbers.  

     MR. RUBENSTEIN:  So there is no productivity built into your capital program?  

     MR. WALKER:  Not directly.  

     As I mentioned earlier for our capital program, 81 percent of our costs -- as with the 2015 program, as an example -- are subject to market-based pricing.  So there is no opportunity for a productivity element to that.  That is the market base, the productive cost.  So we don't expect to put a productivity factor onto those kind of expenditures.  

     For our internal costs, the other 19 percent, we're doing a number of initiatives to try to bring our costs down.  You know, we're looking at improving the wrench time.  We're using GPS data to determine how long and to manage how long our crews are in the shops in -- shop in the morning and the afternoon, so that they're on the road more and we get more productivity out of them. 

     We've gone to third-party logistics to lower the cost of our material handling, and that brings down the cost both for our externally-contracted work and our internal work, because materials are obtained from a warehouse in both cases. 

     We've been automating our maintenance forms, which decreases the amount of time it takes to gather information and eliminates the back-end processing of paper forms, which is a productivity improvement initiative. 

     So there is a number of things that we've done that, you know, will bring our costs down over the course of the five years, but we haven't specifically built that into the capital numbers, because 81 percent of it is at the productive market rate. 

     MR. RUBENSTEIN:  So the rest, if there are productivity gains because of the capital, we won't see that?  Ratepayers don't get that during the term plan?  

     MR. WALKER:  If there is available capital, we will do more work.  That would be the intent.  

     MR. RUBENSTEIN:  And for the other 81 percent that you say because they're market-driven, there is no -- it's 

Toronto Hydro's view that there is no efficiency or productivity savings to be had?  

     MR. WALKER:  No.  It is a competitive bidding process across a number of potential contractors.  So it is also a unit -- fixed unit price contract, which means that the contractor has to bid a price that will be -- he'll get paid only if he does the work.  It's not time and materials; it is a specific cost for a unit of work.  

     And it is up to the contractor to bid a price that is competitive, and should his actual costs be more than that, he eats that difference.  So we consider that to be the most productive cost. 

     MR. RUBENSTEIN:  And the amount of work you put out to tender or how it is packaged -- you're packaging one unit of work versus 50 units of work -- would have no effect on the actual costs that they would bid per unit?  

     MR. WALKER:  No.  They're not given any specific quantities, if I understand your question, in how they bid.  

     MR. RUBENSTEIN:  So maybe you could just help me understand.  When you are tendering out your capital projects, when you say "unit of work" are we talking about a -- what we're using in this proceeding as a project?  Is it you do it on a project basis or something similar, or...

     MR. WALKER:  No.  First of all, I wouldn't characterize it as a tender.  It is not a tendering process.  It is an actual unit price bidding process that has a term of several years.  So they bid prices for units of work for that time period, and then whatever volumes they get, there is no guaranteed minimum or maximum.  Whatever volumes they get, they do it for that bid price. 

     Now, the units themselves are discrete pieces of construction that would build up to a project, if you like.  So a metre of cable and duct, you know, the construction of a vault, installation of a transformer, that kind of thing.  

     MR. RUBENSTEIN:  And the length of time that these contracts run with the contractors -- 

     MR. WALKER:  Mm-hmm? 

     MR. RUBENSTEIN:  -- in your view that would have no change in the actual per-unit bid, or per-unit cost that they would -- that the winning bidder would bid?  

     MR. WALKER:  Well, the -- we have pretty -- we have contracts in place now that are multi-year.  So I believe that determines a reasonable cost.  

     MR. RUBENSTEIN:  Have you looked at what is the best way to get the lowest cost from your contractors, what's the best way to structure the contracts, structure for the length of time, the scope of work?  Have you looked into that, what is the best, most efficient way for Toronto Hydro?

       MR. WALKER:  I think that is a question that is better for panel 3.  I am not an expert on the contracting process itself.  

     MR. RUBENSTEIN:  All right.  I want to -- now, you are investing all this capital, and I want to understand where the value for money is for ratepayers, where the benefit of the ratepayers will get to offset some of these significant costs. 

     If I could take you to page 27 of the compendium, you were asked by Energy Probe to provide a chart showing the capital programs and the results in a reduction in maintenance costs and the associated annual savings.  

     Of all of the programs you are undertaking, you were only able to quantify reductions in annual maintenance savings in two programs; that is, rear lot conversion and box construction.  

     And that is a reduction of $130,000 annually or $650,000 over the test period; am I correct?  

     MR. LYBEROGIANNIS:  Yes.  Those are the only two programs where maintenance savings were quantified in the Distribution System Plan.  

     MR. RUBENSTEIN:  And would you take it, subject to check -- and I have more specific numbers on page 30 of the compendium -- that you're planning to spend roughly $162 million over the test period on those projects?  Does that sound about right?  Do the math.  Just take it subject to check?

     MR. LYBEROGIANNIS:  Can I please ask you to repeat that statement?  

     MR. RUBENSTEIN:  That you are planning to spend  roughly $162 million over the test period on those two projects.  

     MR. LYBEROGIANNIS:  Subject to check, I can accept that. 

     MR. RUBENSTEIN:  So from a ratepayer perspective, Toronto Hydro believes that spending $162 million over the five years and getting $650,000 in maintenance savings is value for money for ratepayers?  

     MR. LYBEROGIANNIS:  The comparison that you just made, Mr. Rubenstein, would be a very simplistic view of things.  The business cases that are in the Distribution System Plan and specific to those two particular programs speak to the various benefits that those programs would result in and the reasons why those programs are being undertaken. 

     So it's not simply a comparison of the capital cost to the quantified maintenance savings that are here.  I think you need to look at it more broadly than that. 

     MR. RUBENSTEIN:  Well, I am trying to understand about sort of -- we're doing a lot of renewal projects, and it would seem to me, at least on a simplistic level, one of the benefits of doing a lot of renewal projects is you have less maintenance costs. 

     I am trying to understand that direct relationship.  And the only projects you were able to quantify were those 

two.  You were not able to quantify any of the other projects, the relationship between spending the capital and providing a reduction in maintenance costs. 

     So I am just trying to understand.  It seems to me that for $162 million, the maintenance savings of $650,000 is incredibly small.  

     [Witness panel confers] 

     MR. LYBEROGIANNIS:  So much of the programs that are 

contained in the Distribution System Plan, the savings that would be expected would be from savings that would occur in the corrective maintenance or emergency maintenance programs.  It is somewhat difficult to project out those savings. 

     Now, in the grand scheme of things, and looking at our 

maintenance program more holistically -- and we spoke about this in the technical conference -- much of the spend within our operating and maintenance programs are independent of the condition of the assets. 

     The reason for that is a lot of our spending, for example on the maintenance side, is driven by routine inspections, other preventive measures and predictive measures that are taken due to reliability-centred maintenance philosophies.  Also there are things such as vegetation management.  

So holistically speaking, when we look at the preventative, predictive, corrective and emergency programs that we have in place, a large portion is independent of condition of assets.  

A smaller portion is dependent, and these are some of the costs that we're trying to quantify here.  

     MR. RUBENSTEIN:  So for corrective maintenance, emergency maintenance, are we -- is the amount less because of the capital program that you are proposing in this application?  

     MR. LYBEROGIANNIS:  Maybe one of the ways that I can speak specifically to the corrective maintenance is if I can direct you to Exhibit 4A, tab 2, schedule 2, at page 7, and page 7 has the table that contains our corrective 

maintenance spending.  

     If I can speak to line 18:

"Historical expenditures have shown a downward trend due to an increasing emphasis in recent years on planned capital and preventive maintenance activities." 

     And I can go on, but generally speaking the directional trend that you see there -- and the fact that we're planning on spending in real terms, in 2015, less money than was spent in 2012 and 2011 is in part due to the efforts and the expenditures in the Distribution System Plan and the renewal of plant. 

     MR. RUBENSTEIN:  Yes, but you're spending more than you were spending in 2013 and 2014, where all of this ICM capital went into service.  

     MR. LYBEROGIANNIS:  I would like to point out that 1.6 

million of that is attributed to the street lighting assets that are also subject to this. 

     Once you remove those, the numbers are more in line with what we were spending more recently. 

     MR. RUBENSTEIN:  But ultimately you don't know the relationship.  You're just saying -- you're looking at what you spent in the past and you're saying:  Well, it's going down a little bit.  

But you actually cannot draw a line from the certain amount of capital spending to the actual savings in that budget.  

     MR. LYBEROGIANNIS:  The two examples that are in the 

Distribution System Plan are the areas where we can directly quantify. 

     In other areas, we can't directly state a specific dollar amount of savings for a specific dollar of capital spend. 

     MR. RUBENSTEIN:  All right.  If we can turn to page 28 of the compendium, you say at line 7 -- and I think this is what you were getting at a bit:

"It should be noted that there may be further maintenance savings that are identified with respect to certain investments that are not quantifiable at the present time.  Savings would be further identified and quantified as part of our continuous improvements contained within the measurement and enhancement element within the A.M. Planning Process, as defined by section ..."

And so on. 

     So the first thing is you talk about that there may be further savings requirements -– sorry, further maintenance savings.  

     So you can't guarantee that there will be further 

maintenance savings?  

     [Witness panel confers] 

     MR. LYBEROGIANNIS:  I think there are two elements of that.  You asked whether we can guarantee, and we can't guarantee it. 

     However, what I do want to point out is two elements.  The first element is that, generally speaking, you know, we would rather err on the side of being conservative on this particular matter. 

     In particular, given the context that our system is aging, that the funds that are in the Distribution System Plan are not looking to make substantial changes to the age of the system within this five-year period.  The funds are really trying to maintain the condition overall, holistically, at what it is currently. 

     So we're not expecting to see significant changes that would drive significant and very, very material reductions in maintenance from renewal activities.  

     MR. RUBENSTEIN:  So the forecasts are conservative?  

     MR. LYBEROGIANNIS:  The quantified numbers of savings that are contained in the Distribution System Plan for maintenance savings are conservative. 

     MR. RUBENSTEIN:  Okay.  Thank you very much. 

     MR. WALKER:  I think the way to classify those savings is to think of them as -- is actually a good example.  We're taking an overhead-type of plant in the back yard and we're changing it to an underground system in the front yard. 

     So there is going to be different maintenance requirements from our planned programs for that underground plant than for the overhead plant. 

     So that would create a measurable cost difference in 

maintenance. 

     But in cases where we're replacing like for like, there is no expected difference in the planned maintenance work that we do.  That maintenance is really designed to monitor and manage its condition during its useful life. 

     And as we said, when we get to the number of assets that are past end-of-life today, we don't anticipate any significant change in our reactive or emergency maintenance or corrective emergency maintenance categories when such a backlog exists.  


Once we get past that backlog, we would expect to see a significant improvement in that.  

     MR. RUBENSTEIN:  You understand that when you set these savings conservatively, that just means there is more money that you are seeking from ratepayers?  You actually think deep down it is going to be more savings and that should be a reduction in the maintenance budget, at least for the 2015 test year? 

     MR. LYBEROGIANNIS:  No, Mr. Rubenstein, that is not correct.  The savings that we have included in the plan are the savings that we expect. 

     When you point to, I guess, the particular undertaking –- and I have lost the specific reference where there was the word "may" be other savings, there may be.  However, if it was more likely than not, then we would have included those savings in the Distribution System Plan.  

     MR. RUBENSTEIN:  So then in interrogatory -- so you have a list on page 31 and 32 of our compendium.  These are other cost-saving factors you've provided us, and then on page 33 an interrogatory.  We had asked you to provide the actual cost savings for each of these. 

     And you essentially provided a similar response to the Energy Probe interrogatory, that you couldn't do it.  You couldn't isolate or quantify those things.  

     Am I correct?  At a high level that is what the interrogatory is talking about?  

     MR. LYBEROGIANNIS:  In reading and reviewing these right now, I think you will notice that most of these refer to our corrective and emergency maintenance programs which we have spoken about. 

     So for example, tree trimming, using tree-proof conductor, if we avoid an outage we no longer need to dispatch a crew for an emergency, for example, and I have spoken a little bit about those and the trends that you are seeing -- 

     MR. RUBENSTEIN:  My question was simply:  You could not quantify -- you list all these factors on page 31 and 32, and as we asked you in the interrogatory, you cannot identify -- you can't quantify those per each of those cost-saving factors?  That is what that -- 

     MR. LYBEROGIANNIS:  It cannot tell you X dollar savings due to tree trimming from tree-proof conductor.

     MR. RUBENSTEIN:  So if the plan is approved as filed, we know the capital budget for 2015 to 2019 that you're seeking to put in rates, but we essentially know very little about the cost savings that would result from that, at least during the term.  Am I correct?  In a quantifiable sense?  

     MR. LYBEROGIANNIS:  Maybe one way to speak to this, to discuss this, would be to turn our attention to 2B, OEB Staff 34.  And I disagree with -- that you know very little about our maintenance program going forward.  

     This particular interrogatory that I am drawing your attention to speaks to the impact that our capital spend would have on maintenance.  And it speaks to the fact that there really is three areas where capital spend -- and this is specific to renewal -- may impact our maintenance programs.


One is it might have no change whatsoever.  For example, if I am replacing an existing overhead line I still need to conduct inspections on that overhead line as per the Distribution System Code requirements. 

     In some cases where I am adding to the length of my distribution line, I have now increased the number of inspections that I need to have, and therefore there would be an increase in the maintenance program.  And in other areas it would have a decrease specifically for corrective maintenance, emergency maintenance, that we spoke about, or other benefits if we go underground.  

     MR. RUBENSTEIN:  Thank you very much.

I would like to talk about the ICM for a few minutes here.  If you can turn to page 39 of the compendium, this is again using the example E6.1, underground circuit renewal.

The capital budget is broken down into two categories.  One is the ICM jobs and the second is the CIR projects.  

     My understanding from the explanation above is that for the ICM jobs this represents amounts that have been previously filed in your -- in the approved underground infrastructure segment as part of the 2012-2014 ICM filing; is that correct?  

     MR. WALKER:  Yes, that's correct. 

     MR. RUBENSTEIN:  So am I to understand that 18.6 of the -- million of the 2015 underground circuit renewal budget relates to projects that underlie the ICM budget that you already have approval for?  

     MR. WALKER:  I'm sorry, can you say that again?

     MR. RUBENSTEIN:  Am I to understand that 18.6 million of the 2015 underground circuit renewal budget relates to projects that underlie an ICM budget that you already got approval for in the EB-2012-0064 proceeding?  


[Witness panel confers]

     MR. WALKER:  There were jobs in '14 that were approved but not expected to be completed in '14.  So that may represent money that is carrying over from '14.  

     MR. RUBENSTEIN:  I'm not -- I would understand that if we were talking about an in-service addition basis, but this is also a CAPEX basis. 

     So have you already gotten funding for this 18.6 million in the last proceeding?  

     MR. WALKER:  No.  If this is CAPEX, we're receiving funding -- correct me -- I will defer to my finance expert here, but we're funded based on the ISA. 

     So not all the projects that were in the program were expected to be completed within the ICM period.  There was an expectation that some of that cost would carry over into subsequent years, or into 2015. 

     MR. RUBENSTEIN:  Yes, I understand that the costs would -- there would be costs.  The CAPEX amounts that were approved would go into service in 2016. 

     If I recall the ICM proceeding, you presented it on a CAPEX basis, and then we talked about this earlier on today, how we came to the rates amount, the ICA amount.  It's a percentage amount. 

     I just want to make sure that, you know, this $18.6 million ratepayers haven't paid for already.  

     MS. ROUSE:  What Mr. Walker is referring to there is that the 2014 CAPEX that was put forward and approved for the new jobs in 2014, in order to finish those jobs in 2015 there might have been additional spending that would need to be incurred in 2015 to complete those jobs and put them into service. 

     So it's difficult to say whether that entire $18.6 million represents a portion that is approved versus a portion of a job where only a partial of the spend was approved, but we need to spend more to finish it in '15. 

     MR. RUBENSTEIN:  So if I can just turn you to page 40, this was from an earlier version of this table.  It had $14 million instead of $18.6 million.  I am not asking you to tell me what project or specifics; just help me understand -- so there would be an increase in the amount -- there's an increase in the amount that is for ICM jobs.  What would that be?  How would that -- what type of things would have that increase?  What would cause that?  

     MR. WALKER:  I don't think you can characterize this as an increase in cost for any given job.  It's the difference potentially in the timing of the work.  So projects -- in our original forecast we would have expected more of them to be completed within the envelope of 2014, such that less would be carried over on a dollar basis into 2015. 

     But you can't infer from that that there is any cost difference in the project.  

     MR. RUBENSTEIN:  So it's more likely a delay of projects that you were going to do in 2014 that have got -- more of them have been pushed into 2015. 

     MR. WALKER:  I wouldn't necessarily even say it is projects have been pushed.  It could just be cost within a project.  

     So the project schedule would have bridged over the December/January period.  Now more of it is bridging over than was originally anticipated.  That's a possibility.  

     MR. RUBENSTEIN:  All right.  If I can ask you now to turn to page 43, we had a discussion last Tuesday about this, and this was an illustrative example, from what I understand, to try to show that you're close to what you had your approved spending. 

     And what I understood that this was showing us, what you were trying to tell us, was that of the 188 jobs that were approved in phase 1 and that you have completed them by the end -- that you had completed them, on a CAPEX basis you were approved to spend $124.7 million and you ended up spending $134.7 million on those 188 jobs; am I correct? 

     MR. WALKER:  Yes, that's correct. 

     MR. RUBENSTEIN:  So you over-spent, on average, about 8 percent?  

     MR. WALKER:  That's correct. 

     MR. RUBENSTEIN:  Can you explain to me the basis of why you have overspent on average by that much?

     MR. WALKER:  I couldn't give you specific reasons why we overspent, without going into the job-by-job comparison that we have talked about for true-up. 

     I can tell you that there are variances that occur in any project between the original estimate -- and keep in mind that many of these had high-level estimates when they were filed -- and what comes out in detailed design and in the field. 

     There are often field-identified conditions that were not identified from the engineering analysis that could get added to the scope of a job. 

     There may be field-specific conditions that occur during the design that were not anticipated, the presence of other utility plant, even just the specifics of the design around how far apart you space vaults, where transformers are located because of voltage drop 

calculations. 

     You have to align the plant to the specific geography of the area.  You don't want to put a pole right in front of somebody's house; you want to put it at a lot line. 

     So all of those kind of things lead to variations or 

variances from what the original expectation was, and that's likely the reason for the changing cost.  

     MR. RUBENSTEIN:  Can I ask you to turn to page 3 of the package of materials that was provided today?  This is the 60 pages that you provided today.  

     So this appendix C looked at 188 projects, and now, from my looking at table 1, there are now 461 of them that have been completed; is that correct?

     MR. WALKER:  That's correct. 

     MR. RUBENSTEIN:  Are you able to provide the same approved versus actual for the total of the 461 projects?  

     MR. WALKER:  No, we're not.  

     MR. RUBENSTEIN:  So we don't know if, over the 461, that 8 percent was maintained, or if it is higher or lower?  

     MR. WALKER:  I can say that our ICM CAPEX and our ISA values are -- as we calculated them, are approximately within 5 percent of the approved values for 2012 to 2014. 

     I can't really say much more than that.  

     MR. RUBENSTEIN:  But that number is an aggregate and it's based on new projects that came in.  It includes on this list -- sorry, on page 4, it includes jobs that were not originally filed that were replaced because you had to move them up in the schedule and include them; am I correct?  

     MR. WALKER:  Yes, that's correct.  

     MR. RUBENSTEIN:  So we don't have a -- we never had an 

estimate of that job cost to begin with?  

     MR. WALKER:  For those ones, that's correct. 

     MR. RUBENSTEIN:  So I am interested in the ones we do have an estimate of, so there is sort of a benchmark that we can look at. 

     We don't know if, over the full 461 of those jobs, it's 8 percent on average you're over-spending, if it's more or less?  

     [Witness panel confers] 

      MR. WALKER:  We haven't gone that far in our true-up 

analysis.  Our financial close only happened very recently, if it's even completely finished. 

     So our expectation, prior to this proceeding, was that we would be working on that moving forward and determining those.  

But at this moment, we do not have that. 

     MR. RUBENSTEIN:  You don't have a sense?  

     MR. WALKER:  Well, the sense I would give you is what I said; the ICM CAPEX and ISA is coming in within 5 percent overall. 

     MR. RUBENSTEIN:  And for appendix C, for the 188 that we do have these numbers, are you able to break that down by segment, so we have a sense of really, you know -- if I remember, there were B segments at the time.  It is really B1s that are causing the over-spend and not B2?  

     [Witness panel confers] 

     MR. WALKER:  To be honest, sitting here I'm not sure whether we could do that or not.  We'd have to look at it.  I don't know.  

     MR. RUBENSTEIN:  Well, can you do that, and if you are able to do that, provide an undertaking?  And if you're not, you can explain why.  

     MR. WALKER:  Sure.  

     MS. HELT:  That will be Undertaking J4.4. 

UNDERTAKING NO. J4.4:  TO PROVIDE A BREAKDOWN OF NUMBERS IN APPENDIX C BY SEGMENT, OR TO EXPLAIN WHY A BREAKDOWN CANNOT BE PROVIDED.

     MR. RUBENSTEIN:  I have some questions about contractors.  

If I could ask you to turn to page 50 of the compendium, my understanding from lines 8 through 12, generally -- and you would agree with me that generally that there is a lower cost to using external contractors than internal staff for capital work?  

     MR. WALKER:  Yes, that's correct.  

     MR. RUBENSTEIN:  If I could ask you to turn to page 52 of the compendium, this was a CUPE interrogatory, and I am interested in table 2 and I am interested in the second line, which is showing total capital spend by external contractors.  

     And what I see is that the forecast 2015 numbers declined from 2013 and 2014.  Why is that?  

     MS. ROUSE:  I think this might be better suited for the next panel, as it does include more than just the design and construction contractors, from my understanding of what I am reading here. 

     Maybe it is not the next panel, but a collaboration of the two panels.  

     MR. KEIZER:  I think it is panel 3.  

     MS. ROUSE:  Sure. 

     MR. RUBENSTEIN:  Well, I am scared they're going to say -- well, you guys are the other half of the costs and I just want to make sure I get an answer. 

     It would seem to me if -- I think the premise is understandable.  If you're supposed to have -- if contractors are more cost-effective, it seems like you should be using more, not less, of them.  I am just trying to understand that.  

     MR. WALKER:  I think we'd have -- if you are talking about the design and construction contractors, I don't know that we could devolve those out of those percentages right here.

     I can tell you, though, that our internal workforce is not going to grow over the five-year period.  So, you know, we are not moving in a direction to less efficient costs.  If we're spending more in a particular area, it will be by contractors.  

     MR. RUBENSTEIN:  But in 2015, you're using less than you had used in the last couple of years. 

     MR. WALKER:  I think you would have to look at the breakdown of costing in the program. 

     You know, if there's more -- if the mix of work is 

different, then the costing structure would be different and the calculation might come out to a different percentage.  

     It's the nature of the work.  It is not a simple thing of saying that because the number is smaller, we're using less contractors. 

     MR. RUBENSTEIN:  I understand you can't provide me a precise number right now, but you guys -- Mr. Walker, you're in charge of the design and construction.  What are you seeing?  Are you seeing there is less, that you're using less contractors than previous -- the last couple of years?  And why would that be the case, if that is true?  

     MR. WALKER:  No, I'm not seeing that.  

     Like I said, I don't have an -- I haven't annualized this.  But there's no expectation from the work that we're putting forward that we're eliminating contract work or eliminating contractors; not at all. 

     You may see in costing -- if material costs are different, for example, you're going to get a different balance of costing overall.  But that doesn't mean we're using less contractors to do that work. 

     MR. RUBENSTEIN:  And where it says in that interrogatory for the 2016 to 2019 period Toronto Hydro's -- you're not a position to provide a specific forecast but expect the results to be consistent with the 2015, so is it your expectation whatever the percentage is for the work that you are responsible for there won't be a growth in the percentage of that work done by contractors?  

     MR. WALKER:  What we -- what I can say -- to be careful I don't misrepresent this -- our internal workforce is remaining consistent across that period.  So fluctuations in spend around that would be borne by the contractors, and that's one of the reasons you contract work out, so that you have that flexibility.  You're not driving your work to your resources; you are driving your resources to your work. 

     However, again, I would say I would be cautious in looking at that percentage just as it is and making inference as to how much contract work is being done.  

     MR. QUESNELLE:  Mr. Rubenstein, can I just ask a question at this point?  

     Mr. Walker, you've mentioned 80 percent on a few occasions in talking about the contracting out, and that it is market-based and that you speak to that in terms of the continuous improvement in what you are looking for there. 

     Can you put that 80 percent into context?  I recognize these are capital.  What are you capturing with the 80 percent?

     MR. WALKER:  Sure.  The 80 percent is based on sort of three elements of the way we're executing our work.

Materials are included in that.  All of our materials are procured through a competitive bidding process, so that is a market-driven cost for those materials. 

     We have no internal civil crew capability.  So all of the civil work that we do, even for work that is executed electrically by our own forces, is based on unit price bid costs.

And then a significant portion of our electrical design and construction is done by contractors as well.


So when you take that all into account, it works out to about 81 percent. 

     MR. QUESNELLE:  Thank you.  

     MR. RUBENSTEIN:  If I could ask you to turn to page 53, these are the proposed performance measure framework that you are providing.  And my understanding, these are metrics that you are proposing to track over the -- report on over the term plan.  Am I correct?  

     MR. WALKER:  Yes, that's correct. 

     MR. RUBENSTEIN:  And for some of these you do have targets and for others you don't?  Am I correct?  

     MR. WALKER:  We have forecasts for some of them and not for others. 

     MR. RUBENSTEIN:  So for the reliability ones generally you have forecasts, but for the cost efficiency and effectiveness there are none?  

     MR. WALKER:  I would say that for the Distribution System Plan implementation progress we do, because it's based on the year-over-year spend.  So you could say there is a forecast built into that. 

     MR. RUBENSTEIN:  But for the other listed 2 through 5 on that list, no?  

     MR. WALKER:  Just let me validate that.  


[Witness panel confers]

     MR. WALKER:  If I can take you to 2B, SEC 19, and there you can see in the table on the first row the capital planning, engineering and support forecast for '15 to '19 there.  

     MR. RUBENSTEIN:  That was based on a question I had posed as an interrogatory.  You're not setting targets.  This was a response to a question I asked to run the numbers based on your -- 

     MR. WALKER:  No -- 

     MR. RUBENSTEIN:  You're not proposing to set targets. 

     MR. WALKER:  No, we're not proposing to set targets.  No. 

     MR. RUBENSTEIN:  So let me ask you first about the 

Distribution System Plan implementation progress measure.  This is on page 54 of our materials. 

     My understanding essentially is that it is the total percentage of capital expenditures spent during the planned term at any given time as a percentage of the total capital expenditures amount that are approved.  Am I correct?  

     MR. WALKER:  That's correct. 

     MR. RUBENSTEIN:  I want to understand why that is an appropriate measure when what ratepayers are interested in is that you are putting in service the amount you say you are going to put in service for any given year.  That's what they're paying.  

     MR. WALKER:  So, I'm sorry, your question is why we're not using in-service as opposed to capital spend?  Is that --

     MR. RUBENSTEIN:  My question is:  Why is that an appropriate measure and metric, and not the percentage of in-service additions that you forecasted and ratepayers pay versus what you actually do in any given year?  

     MR. WALKER:  First of all, the reason we put that metric forward was we are asking in this filing for approval to do a body of work.  Regardless of how it is funded, you know, we are putting forward that intent. 

     So we wanted to give an indication of how well we were achieving that intent.  And if you think of -- as I mentioned -- the 81 percent of our costs being driven by market forces, what underlies that is that that bid cost, contractor bid cost, which is a go/no-go kind of thing -- if they do the work they get paid, if they don't do the work they don't get paid, regardless of how long it takes them or not -- so it is showing the pace of the work that we're completing, and giving indication that we are in fact executing on the program we set out to do.  And that was really the intent of it. 

     MR. RUBENSTEIN:  You would agree with me that the capital plan based on CAPEX approach, based on the -- using the sort of five-year as a whole, is very different than what actually flows through rates and what ratepayers are ending up paying?

They're paying a specific amount based on a specific amount that goes in service in any given year.  If there's timing differences and if there's delays, then one could argue there is an over-collection?  

     MR. WALKER:  Yes.  And I think actually that's why this metric is somewhat valuable, because if we have delayed our capital spend that means we delayed work.  If we're on track for capital spend, then we should be on track for our in-service amounts as well. 

     MR. RUBENSTEIN:  But the metric isn't even CAPEX you say you are going to spend in a year versus the CAPEX you actually spend.  It's -- I mean, the goal is at the end of the five years to have 100 percent.  

     MR. WALKER:  Absolutely. 

     MR. RUBENSTEIN:  The years in between, you know, it's not going to be 20 percent every year.  

     MR. WALKER:  No.  The intention is that it will match what we put forward in the DSP, and that's what we're going to be measured against in this metric:  Have we achieved, at the end of year 1, what we said we had set out to do?

So it will be plus or minus around that number.  And that is what we're trying to indicate, is how well we're executing on the plan. 

     MR. RUBENSTEIN:  Can I ask you, then, to turn to page 56?

This is another metric.  This is planning, engineering and support deficiency.  And my understanding of this metric is it measures the planning, engineering and support capital costs as a percentage of the total capital spending.  Am I correct?  

     MR. WALKER:  I'm sorry, are you asking me to confirm that?  

     MR. RUBENSTEIN:  Yes. 

     MR. WALKER:  Yes. 

     MR. RUBENSTEIN:  And the plan is to measure it on a five-year rolling basis; am I correct?  

     MR. WALKER:  I believe that is what we said.  

     MR. RUBENSTEIN:  I don't think I provided that page.  

     MR. WALKER:  Subject to check, I do believe that's correct. 

     MR. RUBENSTEIN:  I'd be correct that a lower number is better?  You're more efficient if it is a lower number?  

     MR. WALKER:  Yes, that's correct. 

     MR. RUBENSTEIN:  If we turn to page 57 -- and I think this is from SEC 19.  This is forecasting, using your numbers that you are forecasting.  Do you see that?  

     MR. WALKER:  Yes, I do. 

     MR. RUBENSTEIN:  On the last line on that table is what would be the percentages.  

     And I am looking at that and I don't see a gradual decline.  I see it goes up in 2016 from 2015.  Then it goes down in 2017, and then goes up in 2018. 

     So why aren't you setting targets?  Why aren't we seeing productivity improvements on this metric?

     MR. WALKER:  Again, the text of these metrics is not a target-setting exercise; it is an exercise in demonstrating to the Board whether or not we are managing our costs to what we said we would manage. 

     We would hope that we will beat these numbers, and we will see as we go forward.  But that is the intent, is to demonstrate what that support cost is, year over year over year, in comparison to what we forecasted it to be. 

     MR. SIMPSON:  I would like to add that that percentage is impacted by the total capital spend in each year.  So it is unfair to just look at an average across there.  

It would be specific to each year, and whether we met that plan.  

     MR. RUBENSTEIN:  If I can ask you to turn to page 58 of the compendium, this is your OEB scorecard for 2013.  

     As you will see, under the "Operational effectiveness outcomes" and the "Performance" categories, you have an asset management metric.  And the measure currently -- so this is for 2014 -- is Distribution System Plan implementation progress. 

     And am I correct that the asset management metric is the one -- each utility gets to pick.  This is a Toronto Hydro-chosen metric; am I correct about that?  

     MR. WALKER:  To be honest, I don't know. 

     MR. RUBENSTEIN:  Now, if I could take you to page 61, this is the notes that you provide with respect to the entire scorecard. 

     I want to take you to the top of page 61, the third line, and this is what it reads:

"Toronto Hydro deems its year-end results to be..."

And just to be clear, this is from the asset management categories.  You can see that on the previous page we're talking about the asset management metric. 

     The line says:

"Toronto Hydro deems its year-end results to be 

successful if the year-end results are within plus or minus 20 percent dead band from the approved amount." 

     So am I to understand a variance of plus or minus 20 percent in a given year is a success?  

     MR. WALKER:  I think for this scorecard this is more 

appropriate to be addressed by panel 5.  I am not an expert on this. 

     MR. RUBENSTEIN:  Well, let me ask –- you're the capital planning panel.  What would you consider success?

     MR. WALKER:  We endeavour to deliver the program for what we costed it out to be.  But we understand that there are variances that occur, because of all of the reasons we have talked about. 

     You know, the numbers that we put forward are high-level numbers, and the details will be driven by the actual field conditions and conditions that occur.  

     MR. RUBENSTEIN:  Plus or minus 20 percent is success for you capital planners?  

     MR. WALKER:  I don't categorize -- characterize it as a percentage plus or minus.  It depends on the circumstances of the particular job. 

     If a job has emergent requirements that are necessary to execute that job, and it causes a variance, we do a thorough assessment of that at that time, whether that is a worthwhile variance to undertake.  And then, if so, we do it.  

     MR. RUBENSTEIN:  I see we're coming up to 1:00 o'clock.  I am almost complete.  If I could finish in the next ten minutes, that would be...

     MS. LONG:  That's fine. 

     MR. RUBENSTEIN:  I just want to then take you to page 63 -- well, more importantly 64 and 65. 

     So this is your corporate key performance indicators, and this is for 2014 key performance indicators.  

     Now, for 2014, I don't -- well, let me ask you a question for the 2015, because we don't have the 2015 ones. 

First, have they been set for 2015?  

     MR. KEIZER:  There was an undertaking already provided in this regard, and the response is yet to be delivered.  

     MR. RUBENSTEIN:  All right.  Let me ask you a question about prioritization between programs.  

     I am sure, Mr. Walker -- I am sure you are aware of Dr. Kaufmann's evidence.  He is planning to spread your capital spending over -- his proposal was that it be spread out over eight years instead of the five you are proposing.  You are generally aware of this?  

     MR. WALKER:  Yes, I am. 

     MR. RUBENSTEIN:  Can I ask, if that proposal is accepted or any reduction in capital spending is -- the Board reduces your proposed capital spending, I understand how you may prioritize projects within a program. 

     How do you prioritize between programs?  

     MR. WALKER:  In the plans that we put together, it's a complex consideration when you look at all of the various different types of work we want to achieve. 

     We would never want to put all of our eggs in one basket and do nothing but, let's say, underground rehab work because that happened to have the best business case, if you like. 

     You know, our responsibility is to look at the entire system, look at the risks that the system faces in its entirety, and try to come up with a balanced program that addresses everything moving forward. 

     So that's -- you know, it is a bit of a balancing act how you determine where you spend the money between programs.  But we're trying ultimately to address that backlog of assets that are past end-of-life in the time frames that we have talked about, and that is how we're looking at where we spend our money in the programs. 

     MR. RUBENSTEIN:  But you must have a sense that:  If there is a reduction of $20 million in the first year, these are the programs we've got to spend what we are proposing, and these are the ones where there could be a little bit of give. 

     The first projects, or first set of projects that would go or would be deferred --

     MR. WALKER:  I wouldn't categorize it that way at all.  

     We would have to go back and assess, given a particular level of funding, how we would reconstruct the entire program to best serve our customers moving forward, and it is going to depend on the level of spend. 

     I wouldn't categorize any area that we put forward as 

unimportant and sacrificial; they all need to be done. 

     MR. RUBENSTEIN:  I'm not saying they're unimportant, but some are more important than others. 

     MR. WALKER:  But again, that is a complicated consideration.  

We would have to look at how much funding we have, and then reassess where we would best spend that money.  

I think it is very simplistic to presume that we would go and cut certain things and certain -- you know, just willy-nilly.  

     MR. RUBENSTEIN:  I am not suggesting that that would be the way you should do it. 

     Can I ask you, then, finally, if we can go to pages 68 and 69 of the compendium?

     This was actually discussed in some of the other panels that I saw in the transcripts, but there is an expectation that when it comes to 2020 and along, you will be spending about the same amount of money, or you forecast to spend the same amount of money per year as you are seeking in this application, in the $500 million range.  Am I correct about that?

     MR. WALKER:  I think what I actually said is that for the renewal portion of the program, given the paced approach that we established, we would expect those expenditure levels to remain the same. 

     However, for the other spend categories, our customer 

connections, we would have to look at what we anticipate is going to be happening; are we still going to have highrises going up all over the city or not?  

     So those other categories of spend, even our general plant, it depends on what we feel we need to do to keep the business running. 

     Those could very significant, and we're not in a 

position to speak to that at this point. 

     MR. RUBENSTEIN:  But with respect to, say, customer 

connections, you are looking at are we going to continually see the condo boom we're seeing now.  You must be looking at projections that are longer than five years and have a 

sense of what the customer connection amounts are, based --  I'm not saying 30 years into the future, but, say, the next -- from year 5 to year 10, or from year 5 to 15? 

     MR. WALKER:  We are certainly looking at those things, but we're not at this point proposing any particular spend 

expectations beyond the five years. 

     All I'm suggesting is that by the time we're at that point, conditions could be very different and so our expenditure levels could be very different as well. 

     MR. RUBENSTEIN:  If I could ask you to turn to page 70 of the compendium, we had asked you if you had a longer-term capital plan, either standalone or part of a business plan, and if so, if you can provide a copy. 

     You said you don't.  You have the five-year plan that is in this application, and that's it.  I think that is what you were just saying. 

     MR. WALKER:  Sorry, I couldn't hear what you said there. 

     MR. RUBENSTEIN:  We asked you if you had a longer-term 

capital plan, longer than the five years that are part of the Distribution System Plan in this application.  And you said you did not. 

     MR. WALKER:  That's correct. 

     MR. RUBENSTEIN:  And that is what you were just discussing, that you hadn't forecasted that amount out. 

     Now, in previous cost of service proceedings -- the last few at least -- you have had ten-year capital plans.  I think AMPCO in their cross-examination took you to an excerpt from one of them. 

     So you used to do longer-term plans and now you don't.  I am trying to understand why you have stopped doing long-term plans like that. 

     MR. WALKER:  What I would say is today we are doing asset-based longer-term plans.  We're not turning them into a particular program of spend at this point.  I think there is too many variables that we want to consider, you know, some of the ones I mentioned.  Even the regulatory framework we might be having to file under at that point that might change the way that we would approach it. 

     So from a work program or a capital expenditure perspective, we're not forecasting beyond the five years. 

     MR. RUBENSTEIN:  So at some point it was beneficial, but now you don't think it is. 

     MR. WALKER:  I think that from a costing perspective it's not something we want to entertain right now.  

     MR. RUBENSTEIN:  All right.  Thank you very much.  Those are my questions.  

     MS. LONG:  Thank you, Mr. Rubenstein.  

     We will take our lunch break and be back at 2:05.  Thank you.  

     --- Luncheon recess taken at 12:58 p.m.


--- Upon resuming at 2:09 p.m.

MS. LONG:  Please be seated.

Mr. Keizer, are there any preliminary matters?  

     MR. SMITH:  No, Madam Chair. 

     PRELIMINARY MATTERS:

MS. LONG:  I can say that the Panel has a preliminary 

matter.  On the issue raised with respect to the wireline attachment rates and Rogers' request, we will be issuing a Decision this afternoon.  

     So, Ms. Girvan, I believe you are next. 

     MS. GIRVAN:  Thank you very much.  

     CROSS-EXAMINATION BY MS. GIRVAN: 

     MS. GIRVAN:  Good afternoon, panel.  I have cut down my questions considerably, thanks to Mr. Rubenstein's efficient cross-examination.  

     So I just want to follow up on a couple of items that arose during Mr. Rubenstein's questions to you.  And if you could turn to page 39 of his compendium, please?  

     So these are the underground infrastructure costs, and I am trying to understand exactly what's going on here with this ICM of the 18.6 million.  

     Can you explain to me again what the 18.6 represents, please?

     MR. WALKER:  The 18.6 million represents costs associated with projects in 2014 that are not completed, and carry into 2015.  

     MS. GIRVAN:  Okay.  Because it's my understanding that the ICM was completed as of December 31st, 2014.  So it looks to me that this is a carryover of expenditures related to the 2012-2014 period that you have put into the 2015 budget.  

     MR. WALKER:  I think the difference is what we put forward in terms of the ICM cost was cost for the ICM period itself.

But if you go to the business cases and look at the project costs or the job costs that are listed there, they're the full job costs. 

     So it is a different set of costs than what is in the actual ICM tables, if you like. 

     MS. GIRVAN:  So the 18.6 million wasn't part of your 

forecast capital expenditures related to the ICM?  

     MR. WALKER:  That's my understanding; it's not part of the cost that is in the financial tables for ICM for 2014. 

     MS. GIRVAN:  Okay.  So I just -- going again on that 

particular topic, I want to turn again to Board Staff 39, the interrogatory that seems to be very popular. 

     Now, I have the previous version.  I don't have the updated version in front of me.  And it is just for illustrative purposes, really. 

     So if you look again at the underground infrastructure, and if you go to the capital expenditure schedule, which is appendix B, it says here that the approved CAPEX for underground infrastructure was 165 million and the forecast was 199 million.  So in effect, the actual expenditures were 34.3 million above what was approved.

Do you see that on line -- the line under B1?  

     MR. WALKER:  Sorry.  

     MS. GIRVAN:  If you go to the very end, so right here.  You see that at the top corner, 34.39?  

     MR. WALKER:  Yes, I see that now. 

     MS. GIRVAN:  So that's telling me that you basically spent $34 million more than what was approved through the ICM for that particular budget item.  

Total approved is 165.56, and your forecast there is 199.95. 

     MR. WALKER:  Yes, that's correct. 

     MS. GIRVAN:  So are you seeking approval to recover the 34 million in rates?  

     MS. ROUSE:  Yes, that additional $34.4 million would be included in our ICM true-up costs. 

     MS. GIRVAN:  So you would be seeking to approve that -- recover that through the opening rate base for 2015?  

     MS. ROUSE:  Yes, that's correct.  All of the forecasted costs that you see here for the ICM period 2012 to 2014 would be forecasted to be coming into rate base opening 2015 on a total in-service basis.  Our preliminary 2014 results are showing that our total ISA for everything, including this ICM, is coming within 1 percent of the forecasted amount for the opening rate base that we had predicted as part of this filing. 

     MS. GIRVAN:  But would you agree with me that the Board is requiring actual spend on the approved ICM projects versus what was approved by the Board at a project level?

     MS. ROUSE:  Sorry, I should clarify.  We are looking at the CAPEX table.  I am mistaken in what I was just saying. 

     Sorry, the language I was using was referring to the ISA, not the CAPEX. 

     MS. GIRVAN:  It's the same idea. 

     MS. ROUSE:  Yes.  What you need to remember here, though, is that there are unfiled jobs that have also been deemed necessary to be completed.  And so there will be, as part of the true-up exercise, an explanation about why those jobs needed to be substituted into –

MS. GIRVAN:  The jobs that weren't part of the original forecast?  

     MS. ROUSE:  That is correct. 

     MR. WALKER:  And I think that you may recall that in the evidence, in a number of places, we talked about the need for that flexibility, the need to be able to advance, defer, replace jobs. 

     That was -- that's something that is in the normal course of our business.  Things do emerge that are of high priority and need to be addressed. 

     MS. GIRVAN:  But if I look at what the Board decided in the ICM Decision, I think they said, unlike the envelope approach often adopted in cost of service proceedings, the monies must be reported on a per-project segment.  

     MR. WALKER:  Yes, I agree. 

     MS. GIRVAN:  You agree?  Okay.  But you're saying as long as the overall envelope -- that's what you're seeking approval for?  

     MR. WALKER:  No.  I think what we're saying is that, as we said in our evidence, we do expect to see jobs advanced, deferred or replaced, and that the expectation is that we would justify that at true-up, those jobs being of the same nature as what was requested in the ICM segments, and with justification as to why we did it.

That would be the essence of the true-up exercise. 

     MS. GIRVAN:  Okay.  Thank you.

So, Mr. Walker, I just want to follow up again on something you said earlier.  I think Mr. Rubenstein was asking you about your sort of move -- you used to forecast capital on a ten-year time frame, and now you are doing less than that; is that correct?  

     MR. WALKER:  We are putting only a five-year program out. 

     MS. GIRVAN:  Yes.  So I think what you said is the 

justification for that is really by the time you reach 2020, circumstances could be very different and the spending very different.  That's what you said to me earlier.  

     And I just wondered, if that's true for 2020, why isn't it also true for 2018 and 2019?  

     MR. WALKER:  Because we are filing within the CIR period a work program that is a five-year view.  That's the nature of the RRFE CIR framework, five years. 

     So it's appropriate for us to be forecasting out five years. 

     As I also said, we do look at our asset requirements well beyond the five years.  In fact, we talked about eliminating the backlog by somewhere around 2037 in our filing from a renewal perspective.  So we definitely look beyond that.  We're just not putting a work program proposal on the table beyond the five years. 

     MS. GIRVAN:  But I guess you would agree with me, though, that the world might look very different in 2020.  And I'm just saying to you that it could look very different in 2019, relative to what you think you need to spend money on today versus then.  

     MR. WALKER:  There could be differences, sure.  But we have forecasted out, you know, with the best information we have. 

     From the point of view of our system service and renewal programs, that's a very specific set of expenditures we want to do over those years.  For some of the other costs, as I mentioned, general plant and system access, there may be differences that occur.  We don't expect them to be material, but that's why we do forecasts. 

     And it is just a matter of beyond the five years, we are not proposing any particular work program.  

     MS. GIRVAN:  Okay.  Thank you.  

     I just want to confirm -- get you to confirm something for me, just to see if you are aware of this.  But just -- you can just take this subject to check. 

     Exhibit 8, tab 7, schedule 1 sets out the rate increases over the term of the plan.  I realize it is not your schedule that you are responsible for, but I would just like to ask you if you are aware that, for residential customers, the range of the rate increases over the period are exceeding 40 percent.  Would you agree with that, subject to check?  

     MR. WALKER:  Subject to check, sure.  

     MS. GIRVAN:  And do you know that?  Are you aware of the fact that your capital plan that you are proposing will result in rate increases to that level?  

     MR. WALKER:  I am not an expert on rate structure, so no, I'm not. 

     MS. GIRVAN:  So that wasn't something that you took into consideration when you were developing your plan?  

     MR. WALKER:  Not directly, no. 

     MS. GIRVAN:  Okay.  Thank you.  

     And if I turn to another table that seems to be referred to quite often, Exhibit 2A, tab 6, schedule 2, and that's the capital projects table, this was actually filed July 31st, and I just wanted you to confirm that, subject to the changes resulting from the Copeland project, that the numbers really haven't changed in these areas except for the Copeland project relative to what you filed in July.  

     MS. ROUSE:  The one that is on the screen actually was the updated version from February 6th with the Copeland update included. 

     MS. GIRVAN:  Yes, but the Copeland update is really the one thing that has changed primarily versus what you filed in July.  

     MS. ROUSE:  That's correct. 

     MS. GIRVAN:  Okay.  So when can you -- sorry.  When were these numbers finalized?  Absent the Copeland update, when were the numbers that were filed in July finalized within the company?  

     MR. WALKER:  I don't think we know.  

     MS. GIRVAN:  Could you undertake to find out, please?  

     MR. WALKER:  Sure.  

     MS. GIRVAN:  Because I'm assuming that this is sort of an iterative process that you go through within the company, but I am just looking at when were these specific numbers finalized.  Was it last -- you know, was it -- 

     MR. KEIZER:  Ask why -- like, what the relevance is of when they were or weren't finalized?  

     MS. GIRVAN:  Well, I think it is just important to looking at the validity of the forecast.  If they were finalized a year ago, that could be very different than being finalized in July.  

     MR. KEIZER:  Understood.  

     MS. HELT:  That will be Undertaking J4.5. 

UNDERTAKING NO. J4.5:  TO CONFIRM WHEN THE NUMBERS FILED IN JULY WERE FINALIZED INTERNALLY.

     MS. GIRVAN:  Okay.  Then I guess I would also -- a question following up from this is -- it's pretty safe to conclude that in each of these categories, that you finalized these budgets in the absence of what you did in 2013 and 2014 specifically.

     MS. ROUSE:  2013 results are reflected in this table, actual results.  

     MS. GIRVAN:  Okay.  Because you have been telling us it is very difficult to actually assess what your actual results are.  So I am just wondering to what extent -- maybe you can help me -- 2013, what you actually did in 2013 influenced the level of these numbers.  

     MR. WALKER:  I think what we were saying is to true up at the job level is what we're -- is going to take an effort and take time to do.  This is just at the segment level.  

     MS. GIRVAN:  So you're saying 2013 actuals were some part -- some input into these numbers?  You considered what you actually spent in '13 in developing your '15 budget?  That is my question.  

     MR. WALKER:  Yes.  

     MS. GIRVAN:  Okay.  So if I look again at -- and I'm going to use sort of two examples.  One is underground circuit renewal, which we have been talking a lot about, and we have the numbers there, '15, '16, '17, '18 and '19, so we've got 96 million, 80.1, 84, 99.7 and 99.5. 

     And I guess I'm curious to get from you what you're really seeking approval for with respect to those numbers. 

Is it approval for the work embedded in those budgets?  Or are you just seeking approval of the total amount in each year?  


[Witness panel confers]


MR. WALKER:  Those numbers beyond 2015, as we spoke about this morning, are forecasts, but they're based on an expectation of particular work that we want to do.  So it's not just a request for blanket approval. 

     There is work expected to be done under that, of the same type as what's in the '15 program.  It is not down at a job level, but it is expected to be the same kind of work. 

     MS. GIRVAN:  But we were looking earlier at a number of transformers, for example, and circuits, and -- that are embedded in each of these forecasts. 

     Are you seeking approval from the Board to do that number of those particular items?  Or is it just the overall dollars that you are seeking approval for?  

     MR. WALKER:  I think what we said this morning was that the numbers that are in those tables were derived based on the numbers that were in '15.  So they were scaled up or down relative to the spend associated with the '15 numbers. 

     So they're directional; they're not specific counts of assets that we're intending to replace. 

     MS. GIRVAN:  Okay.  So if I go to rear lot conversion, which is something we have all talked about in the last few years, I see the number 17 million in 2015, 8.1 in '16, 10.3 in '17, 10.3 in '18, and 13.6 in '19. 

     So we talked about scaling, which I thought we were sort of getting at earlier, is that you take your '15 budget and you're sort of scaling up.  But I see in that particular category you go down significantly from '15 to '16 and then you go back up again. 

     And that's why I'm just wondering, in terms of what Mr. Rubenstein was talking about, how you really go about developing these budgets.  So what's happening in that case that you go down in '16 versus up again in '17?  


[Witness panel confers]

     MR. PARADIS:  So if I could take you to our response to SIA 12, so the question there was to comment on the change in the magnitude of the proposed investments over the period, and in our response in part (a) one of the things we tried to highlight is that during the course of our five-year CIR period we're proposing a variety of investments that will provide a near-term benefit to our customer base, which includes the renewal activity, such as rear lot, but also includes service programs, such as contingency enhancement and overhead momentary reduction, and those programs required the same type of resources as the rear lot program. 

     And more importantly, what we look to do when we look at the five-year horizon is balance the long-term improvement of our system, in terms of the backlog of assets that require renewal, while also looking for ways of providing near-term performance enhancements, in terms of reliability, and those other programs which offer that type of improvement come -- balance the investment proposed for rear lot. 

     MS. GIRVAN:  What I am really looking at more -- it is more about developing your budgets.  Again, I am just trying to understand that. 

     And I see in rear lot how you go up and then you go down, which means something must be happening in '16 relative to '15, something must be happening in '17 relative to '16 that leads you to arrive at these numbers. 

     There are other examples, like the stations' switchgear renewal.  You go up and you -- then by 2019 you go back down again. 

     So I am -- as Ms. Spoel was saying this morning, I understand there might be increments that you are moving forward with, but here we see some up and down in some of these expenditures.  And I am just trying to understand how you arrived at the numbers.  

     MR. SIMPSON:  I will try and shed a little more light on the stations segments.  These are necessarily large multi-year projects with a fair bit of complexity and coordination with other groups such as Hydro One.  And so they are necessarily lumpy, and the process is to work with other parties and execute the work, and while pretty good information was used in the estimating and the engineering work, they are always subject to actuals and some adjustment at the end.

And so based on the work program and the needs, that 

schedule has been put together, and that's our best forecast for the work for that station switchgear renewal, which is a group of TS projects and another group of MS projects.  

     So it will be lumpy, and that is the nature of coordinating the work, getting the outages and executing. 

     MS. GIRVAN:  So you're saying in some categories you have a more precise budget, versus in other categories, where it's not so precise in terms of the actual work you're going to do?  

     MR. SIMPSON:  The stations area is one where we are able, because of the larger discrete assets, to have more detailed plans in place.  And that will differ from some of the other program areas, which are more area-driven.  

     MS. GIRVAN:  So can you explain to me, then, what's happening year to year within the overhead circuit renewal area?  

     Again, what I am really looking at is:  Why do we see quite a bit of diversity in the numbers across your plan? 

     MR. PARADIS:  So for 2015 in the overhead circuit renewal area, some of the work that is tabled is for completion of the ICM proposed work. 

     So that would have an impact in terms of the size of that program for that given year. 

     And whereas in the continuation of the CIR term, we are at a level that is the proposed level of investment for the program for that period, relative to other proposed investments that we see will provide value to the customers. 

     MS. GIRVAN:  Okay.  Thank you.  

Mr. Simpson, I just thought I should ask you some questions.  I'm curious -- and it is getting to the budget. 

     So can you tell me on this table what areas you are 

responsible for?  Are there certain line items here that are your responsibility?

     MR. SIMPSON:  Yes, they're from different areas, but 

anything stations-related -- 

     MS. GIRVAN:  Okay. 

     MR. SIMPSON:  -- and also any of the energy storage, or customer-owned equipment, local demand response.

I'm happy to respond to anything in there. 

     MS. GIRVAN:  Okay.  So given that you are primarily 

responsible for those line items, can you help me how you 

developed your budget?  

     So you are the person responsible for these particular line items.  I would like to understand personally what kind of process you went through to come up with your budgets.  

     MR. SIMPSON:  I would like to provide the example of 6.14, which is the power transformers. 

     MS. GIRVAN:  Okay. 

     MR. SIMPSON:  This is a $12.3 million program over the five-year period, and our process in that is to review the age and condition information on about 248 of our power transformers across the fleet, and those have all been prioritized to develop a list of 24 replacements over that period. 

     MS. GIRVAN:  Can you tell me where that is on -- which line item that is?  The stations power transformer renewal, is that what you're talking about?  

     MR. SIMPSON:  Yes.  About a third of the way down the table. 

     MS. GIRVAN:  Yes, okay.  So that's what you're talking about?  

     MR. SIMPSON:  Yes. 

     MS. GIRVAN:  Okay.  

     MR. SIMPSON:  And this program really was driven by our experience in areas like Dupont MS, where in 2003 we had a fire which interrupted 5,675 customers for six and a half hours. 

     And that was an aged transformer that caught on fire and did quite a bit of damage. 

     So this program really shows that all of those assets are beyond their end-of-life 45-year mark, and the worst of the worst have been prioritized and those are the 24 that we're looking to replace during the period.  

     MS. GIRVAN:  So how did you go about developing your budget for each year for that program?  

     MR. SIMPSON:  We have replaced similar transformers in the past, and when we look at those costs and adjust for any, you know, site-specific factors, that's really the basis for our estimates going forward.  

     MS. GIRVAN:  Okay.  When did you finalize your numbers?  You would have had to feed into, I guess, everybody else? 

     MR. SIMPSON:  Yes.  The program really is the last year and a half.  But the analysis continues as we get any updated condition information.  

     MS. GIRVAN:  So when -- on this chart, when did you finalize these numbers yourself?  

     MR. SIMPSON:  You're referring to the five-year investment program?  

     MS. GIRVAN:  Mm-hmm. 

     MR. SIMPSON:  My memory is July of 2014.  I'll have to check that. 

     MS. GIRVAN:  Okay.  Thank you.  

     So can you tell me, going through the plan -- and I'm just using you and your responsibility in this particular program as an example.  But how are you going to manage your budget throughout the term of the plan?  

Is your goal -- is your goal to spend exactly on the dollars?  Is your goal to try to look to ways to be more efficient?  

     What is sort of your plan going forward?  

     MR. SIMPSON:  It is worth understanding the nature of the station work, in that it is sometimes challenging for us to obtain the outages or the coordinated activities with other groups, such as Hydro One. 

     So we work to align our capital program with others such as Hydro One, and do as much work bundled together as possible to improve the synergy and reduce the customer impacts. 

     But we have looked at what we could accomplish in the past and our current resources, and our view is that we can replace at this pace.  For a segment such as 6.14, the power transformers, it is about six units a year -- five, pardon me. 

     MS. GIRVAN:  So if you under-spend your budget in a given year, what happens?  

     MR. SIMPSON:  The actual costs will always come forward in the ISA amounts, and that is what will go forward as far as rate impact that year. 

     We are looking to accomplish in the stations area those scopes, those asset replacements that are outlined here. 

     So it is more a numbers than a cost, if I am following you.  

     MS. GIRVAN:  Well, I guess I'm saying -- is -- say in 2015, you under-spend, are those dollars allocated somewhere else?  Are those dollars moved forward into your budget next year?  How does that work?  

     MR. WALKER:  I think in terms of those stations projects, there are some costs that are associated with purchase of the equipment.  So we have large breaker purchases, switchgear purchases, transformer purchases. 

     If that work doesn't happen, those costs, you know, don't get charged in the course of the five-year period. 

     The labour, we will find work of value for the labour to do.  We have to -- for the internal labour we want to be productive with that labour, and we have work in the stations area that we need to do. 

     MS. GIRVAN:  So you're going to spend the money -- well, I guess it's just not clear to me. 

     If you under-spend in a given year -- let's say in 2015 you have a budget of 1.7 million and you only spent a million.  What happens with that $700,000?  

     MR. WALKER:  Well, as I mentioned, the large material costs for those kind of station investments where we have those big material costs associated with that work, those costs would not be charged unless the work went forward.  

     MS. GIRVAN:  But it's already embedded in rates?  

     MR. WALKER:  It's embedded in the capital spend. 

     MS. GIRVAN:  And embedded in the in-service additions, which is embedded in the revenue requirement. 

     MR. WALKER:  Fair enough.  

     MS. GIRVAN:  I am just trying to understand -- and I am using Mr. Simpson's area as an example, but I am just trying to understand in a given -- in any given project area, if you under-spend in a given year, what happens?  Does that budget move forward to the next year?  Is it allocated, then, to somebody else in another area?  

     MR. WALKER:  It's -- what we do is we try to execute the programs in the areas where, you know -- where we put money forward as best we can, but it's a complicated situation because we do get emerging requirements.  Those may be in one segment that would push that segment, or one program, I guess I should say, in our current terminology.  That would lead us to potentially over-spend in that particular program. 

     If that work is of value for our customers, then we will undertake that work.  So if that means that there's an opportunity to spend money from another program, we will do that, but it's really not -- it's not a budget, you know.  I have to use the budget from here because I'm not using it here, so I will use it there.  It is really what the work requirements are.  

     MS. GIRVAN:  Okay.  So, Mr. Simpson, for example, if your budget came in -- my example again of the 1.7 -- came in at a million dollars, at the end of the day the spending in your area, how do you evaluate what happens?  How do you assess whether you did the work but it cost less, or you didn't do all the work you said you were going to do?  How do you deal with that?  

     MR. SIMPSON:  In the stations area it's reasonably straightforward, in that we had X number of breakers or elements to replace, and we can follow up and see if that scope was completed. 

     MS. GIRVAN:  But what about potentially in a different -- if in a different area?  So are managers of these different programs looking at whether, if I spent less -- if my group spent less, does that mean we're efficient?  Does it mean that we didn't do enough work?

How are you going to, on an ongoing basis, assess, really, how you're doing in terms of what you said you were going to do?  

     MR. WALKER:  Well, we've said in these proceedings that what we measure ourselves against on a project basis is against the detailed estimate.  That's our developed requirement for that job.  And so we can look at it at that discrete project level and say whether or not we're -- you know, we met what we intended to do and whether we met the spend or not. 

     From a program perspective, I think we've talked about the measures we're putting forward in our -- in section C that talk about how we're achieving the work program overall on a year-over-year basis, and some of the efficiencies that we're building into our programs, seeing whether or not we're achieving those.

So that's how we're intending to determine that.  

     MS. GIRVAN:  Okay.  Thank you.


Now, you have an approximate budget of $500 million a year over the term of the plan.  Were you given any high-level direction from the senior executives to land on that sort of $500 million range?  

     MR. WALKER:  No, we were not. 

     MS. GIRVAN:  So your approach is a bottom-up approach to land on that?  

     MR. WALKER:  That's correct. 

     MS. GIRVAN:  Okay.  Again, I think Mr. Rubenstein was talking about this, but in terms of program areas and priorities, and I was -- I guess I was looking at if, at the end of the day, the Board doesn't approve your capital spending, so the in-service additions related to what you are proposing, how are you going to go about and move forward?  

     MR. WALKER:  Well, as I said earlier, depending on the amount of money that we get, we will go back and reassess our entire work program. 

     It's not really that much different than what we did at ICM when our 2011 cost of service application was rejected.  We had to go back and reassess the entire program and come up with a new program. 

     Now, in that case we had to make it to meet the ICM criteria, but in essence it is no different.  We would have to go back, look at our entire program, and decide where it is most prudent to spend our money, given that reality that we would be in.  

     MS. GIRVAN:  Okay.  So for each of these projects or programs -- I can't remember what they're supposed to be called now -- or segments, can you rank the top ten most important ones?  

     MR. WALKER:  No.  There is no particular ranking across these programs.  They're all important investments from our perspective.  They all represent good stewardship of our distribution system.  

     MS. GIRVAN:  So you can't tell me on this list what are your highest ten priorities in terms of maintaining the system and...

     MR. WALKER:  No.  No.  As I said earlier, I think that is a very simplistic way to look at this.  Every one of these programs has some value to our distribution system.  All of this work is work that we need to do at some point.  I would not just go and cut back on one program ad hoc, given a particular amount of spend.  I would go back and reassess the entire program based on that reality and decide where it is best to invest. 

     MS. GIRVAN:  Okay.  Thank you.  

     So I guess the way I look at it is you've got this proposal before the Board for approval of this five-year plan.  And I am struggling with how you are going to assure the Board and your customers that you are adhering to that plan and you are bringing value for money for your capital expenditures. 

     Because if you spend the amount of money, that doesn't tell me that you spent it cost-effectively.  It doesn't tell me that maybe you did less work.  

     I would like to better understand how you are going to assess and convince your customers that doing this is the right thing along the way.  

     MR. WALKER:  Well, as I mentioned, for 2015 there are specific projects that we are undertaking.  Much of our cost associated with that is on a fixed-price basis.  So that the money only gets spent -- it only gets paid to the contractor if they do the work.  So there is a built-in assurance that if money is spent, that work is being executed on.

     In subsequent years it is a forecast, but it is work of the same type, as we've talked about.  These are investments in the same portfolios to address the same issues year over year over year.  And the programs -- or, sorry, the projects and those programs will be similar in nature as a result, and we will manage them in the same way.  

     MS. GIRVAN:  But in a particular area, if you spent $10 million to do ten projects, you're going to tell us that you spent $10 million.  Right?  You're not going to tell us what you did with that $10 million?


[Witness panel confers]

     MR. WALKER:  If you're asking about the reporting element of it, the regulatory reporting element of it, I think that is panel 5.

     We talked about the metrics we're putting forward, and that is our means of measuring from an execution perspective how we're doing. 

     MS. GIRVAN:  Okay.  I will deal with that with panel 5.

     I just want to talk a little bit about where we are today.  And, you know, we're into 2015.  Likely won't get a Decision for several months now. 

     I wondered to what extent has that timing impacted what you've put forward last July or earlier, in terms of 2015 spending.  

     MR. WALKER:  We have started our execution work program at the same pace that we were executing our 2014 program, so we haven't accelerated or decelerated on the expectation that we'll get a Decision early enough that we can manage any differences before the year is out.  

     MS. GIRVAN:  Can you tell me how much of the ICM work you proposed to do in 2012 to 2014 is being moved to 2015?  

     MR. WALKER:  So if we can look at our submission from last night, and specifically -- well, there it is right there, point number 4.  

     We say here that of the filed ICM jobs, 129 of them 

are in progress as of the end of 2014, and are generally expected to be completed in 2015; so that is about 20 percent.  

     MS. GIRVAN:  Okay.  So if 20 percent of the jobs have moved to 2015, and you say -- 

     MR. WALKER:  I'm sorry, I wouldn't say 20 percent of the jobs have moved to 2015. 

     MS. GIRVAN:  Okay. 

     MR. WALKER:  20 percent will be completed in 2015. 

They were partially executed in 2014; they were in progress 

in 2014.  So their completion date is in the year 2015. 

     MS. GIRVAN:  Okay.  Can you -- looking at this schedule, how does this relate to the 188 that you set out earlier?  

     MR. WALKER:  The 188 jobs -- I assume you're referring to Board Staff 39?  

     MS. GIRVAN:  Yes. 

     MR. WALKER:  The 188 jobs were jobs from phase 1 of ICM. 

     MS. GIRVAN:  So that's 2012 and 2013? 

     MR. WALKER:  2012 and 2013, that's right, that were 

completed and in-service at the time that we filed that.  So they would be within the 461 jobs that are shown in the first line of table 1 there.  

     MS. GIRVAN:  Okay.  And what's the total jobs that you 

applied for under the ICM?  Is that 657?  

     MR. WALKER:  Yes, it is the 657. 

     MS. GIRVAN:  Okay.  Can you turn to -- it's interrogatory response CCC 1(b), No. 18.  

     So if you look down at the response, I am just trying to understand what this means:

"To the extent any ICM work was not completed during 2014, Toronto Hydro has re-filed its request for that work as part of this application."

     So how did you know in July what wasn't completed during 2014?  

     MR. WALKER:  I think that was forecast at the time.  So we would have provided a carryover amount into the 2015 filing, based on a forecast.  

     MS. GIRVAN:  But weren't these jobs supposed to be completed in 2014, all of the ICM jobs?  

     MR. WALKER:  No, not all of the jobs in their full scale.  The concept of ISA, for example, is that not all your jobs are completed and in-service by the end of the year. 

     We need to have a continuous flow of work throughout a 

rolling year, if you like, not just a calendar year.  So it is quite normal for us to have work that bridges between years.  And those projects have spend in both years, but they're attained and put in service in the latter year, not the earlier year.  

     MS. GIRVAN:  Okay.  I have a few questions regarding some specific topic areas, and one of them is regional planning.  Are you the right panel for that?  

     MR. WALKER:  Yes, we are. 

     MS. GIRVAN:  Okay.  If you could turn to Exhibit 1A, tab 2, schedule 1 -- sorry, page 20, here we have your regional planning investments over the term of the plan.  

     Stations expansion is one of the biggest ones.  So just noting that, if you could also turn to Exhibit 2B, section E7.9, page 4, this is really where you describe your regional planning initiatives.  

     And if you look at page 4, here it says:

"Station expansion projects generally require material capital investment, involve significant coordination with Hydro One, and are extremely complex to execute.  For these reasons, detailed project execution, scheduling and feasibility is difficult to estimate until the project is underway."

     So in light of that, how did you arrive at these numbers?  And you can see just below they have the numbers set out.  

What you're saying to me is these are really difficult to forecast, so I am wondering how you came to these numbers.  

     MR. SIMPSON:  Yes.  Because the expansion projects are 

usually a combination of distribution assets and transmission assets, we have a lot of coordination with Hydro One.  

     And so I think, as mentioned earlier, we do quite a bit of work to align our programs with Hydro One to make sure the work is feasible and that we're optimizing the improvements to the system.  And maybe an example is helpful in that regard.

As part of Hydro One's normal sustainment work, they will replace transformers.  In each of those occurrences, we will meet and discuss the growth in that area, and whether it is a good time to incrementally increase the size of that replacement transformer. 

     This provides more benefit to the customers, because that's the most, you know, efficient time to get the work done and to do an expansion that would otherwise cost more. 

     So that coordination work is -- continues in a rolling fashion, and there's a process in place between our two companies to put the engineering estimates together based on scope and then to go forward with contribution agreements, to coordinate the work finally and do the construction, and ultimately those get adjusted with the actual costs. 

     So in working to answer your question, the estimates used here are based on similar previous work informed by any site-specific information we have for the upcoming jobs.      

So a switchgear replacement that we did a couple of years ago will inform the estimate we have for the switchgear replacement, you know, a couple of years down the road. 

     MS. GIRVAN:  I guess what I was really getting at is I'm aware of the fact that you are involved in regional planning activities with the OPA, with Hydro One, I guess with the IESO as well, and any neighbouring jurisdictions.  And I know that that's an ongoing process right now. 

     In light of the fact that you -- the sort of context here is these are extremely complex to execute and difficult to estimate.

I'm wondering how we can have confidence in these numbers going forward for the five years, because I think, you know, the process is going to go on with regional planning, and there are a lot of different elements of 

that and different parties involved. 

     So all I'm sort of questioning is -- you know, if you're saying it is difficult to execute and to estimate, then how can we have confidence in those numbers, because things are going to change?  

     MR. SIMPSON:  The regional plan approach has priorities for mid-, near- and long-term projects, and that process involves IESO, Hydro One and Toronto Hydro in this area.

And so any of those zero to five-year needs are dealt with in an accelerated fashion. 

     MS. GIRVAN:  But that is something you're doing right now; correct?  

     MR. SIMPSON:  And to that end, the regional plan working group and IESO in particular, formerly OPA, have provided wires letters to both Hydro One and Toronto Hydro basically saying:  Go do these improvements, because you need them right away.  

     There are some other issues mid-term and long-term that we maybe have a little more runway to deal with, and so we're developing other options in parallel. 

     But for the near-term needs, the zero to five-year stuff, we have very clear ideas and projects lined up to address those needs.  And these are the west expansion, the central expansion -- 

     MS. GIRVAN:  You don't anticipate those to change in any way, because you're still in negotiations with...

     MR. SIMPSON:  The final number will vary slightly, and that's the difference between the estimate and the actuals that Hydro One will charge us for portions of the work.  But the need remains, and that's well informed by our capacity forecasts and the continued numbers for new connections, et cetera.  

     MS. GIRVAN:  Okay.  Thank you.  

     It's just another couple of areas.  I'll be brief. 

     Could you turn to Exhibit -- we're on 1A, tab 2, schedule 1, page 19.  This relates to smart grid expenditures over the term of the plan.  

     So can you help me understand, from a customer perspective, what value we're getting from these investments?  Because you have significant smart grid investments over the term of the plan. 

     But in terms of benefits to customers, it's really unclear to me.  Maybe you have in the evidence and maybe I missed it -- do you have cost/benefit analysis associated with these?

     MR. PARADIS:  Yes.  The cost/benefit analysis is defined within each business case for those programs.  So for example, feeder automation under 7.3, overhead momentary reduction, 7.4, the quantification is done in the business case.  Generally those investments -- and I would say those two in particular -- provide immediate reliability benefit to the areas targeted in reducing the impact of outages when they do occur. 

     MS. GIRVAN:  So do we see offsetting cost reductions embedded in your program related to these expenditures?  

     MR. PARADIS:  I'm not sure I am clear on the question. 

There would not be cost offsets, in terms of reduction of investments due to this program.  Could you perhaps clarify?

MS. GIRVAN:  Well, I'm just wondering where we're seeing savings, in terms of your operating costs.  

     MR. PARADIS:  This program in particular would result mainly in reliability improvements, as opposed to savings, although in cases where automation is implemented where it 

currently is not, we would see some improvements in terms of our operational response to outages, where we may not have to dispatch crews to do switching activities and we may be able to do that remotely from the control room. 

     So there would be operational benefits in terms of our response to failures and outages.  

     MS. GIRVAN:  Okay.  Just one last question.  

     I've recently -- I think there was some press last week about some delays in work with respect to Queen's Quay.  Are you familiar with that?  

     MR. PARADIS:  Yes, we are. 

     MS. GIRVAN:  So are the delays associated with that work -- I think it is Rees Street -- are they embedded in the updates that you filed with respect to the Copeland project?  

     MR. PARADIS:  It's a little bit difficult to address this without getting into the specifics of the project, but there is a portion of work that was not originally part of the plan for that area, which was incorporated into -- incorporated into the plans for the area as providing benefits in terms of long-term ability to route cables outside of the Copeland station. 

     That would appear in the program for externally-initiated plant expansion for this period.  It doesn't represent a cost increase or scope increase of existing projects that were previously approved. 

     MS. GIRVAN:  But is it not a delay in an existing project?  

     MR. PARADIS:  It is actually an addition, in terms of scope, to what was previously planned for the work in that area. 

     MS. GIRVAN:  Okay.  Those are my questions.  Thank you.  

     MS. LONG:  Thank you, Ms. Girvan.


QUESTIONS BY THE BOARD:

     MS. LONG:  Just before we move on, Mr. Simpson, I had a question for you, and before we move on I think it might be a good idea to ask it. 

     Mr. Paradis and Mr. Otal this morning, from what I understood, said that when they are making an assessment on an asset, your system is such -- and correct me if I'm wrong, if I misunderstood this -- that it only really tracks the degradation.  So all things being equal, if we had an asset that was 35 years old, you would not track -- if a 35-year-old asset was doing better than another one, you could only track if it was doing worse. 

     Is that correct?  Did I understand that correctly, generally speaking?

     MR. PARADIS:  Perhaps to clarify, it is not that we wouldn't track, in the sense that we would have that information available.  We tried to explain -- and potentially not successfully -- was that we wouldn't -- it wouldn't get reflected in our probability of failures as representing a lower probability of failure than other similar assets of a similar age. 

     So there is an inherent risk of failure, based on age, and the fact that a given asset seems to be in good condition relative to others of the same age doesn't change the underlying assumption in terms of probability of failure.  

     MS. LONG:  But I guess I'm getting to Mr. Simpson's question in a circuitous way.  But what I understood you to say, Mr. Simpson, is when you are replacing transformers you are replacing the worst of the worst, which actually was heartening to me that there is some kind of assessment done, all things being equal.  If both assets are 45 years old, you're going to -- you're going to replace the one that needs to be replaced the most. 

     So there is that kind of assessment.  And I wasn't quite sure what I heard this morning, whether that same -- whether you're doing the same thing or whether it hits 35 years and, bam, we replace everything.

     MR. PARADIS:  No, that is not the case.  We would look at the area in terms of performance, reliability and other factors, such as health, and so it is not simply an age trigger that would lead us to take action in an area.  

     MS. LONG:  Okay.  Thank you.  

     Mr. Janigan, I believe you are next.  


MR. JANIGAN:  Thank you, Madam Chair.  I have distributed -- circulated first an e-mail and have distributed a hard copy of a compendium which I would propose to use.  I wonder if it could be marked as an exhibit. 

     MS. HELT:  Yes, thank you, Mr. Janigan.  I believe, members of the Panel, you have it on the dais.  We can mark this as Exhibit K4.2, cross-examination compendium of the Vulnerable Energy Consumers Coalition. 

EXHIBIT NO. K4.2:  VECC CROSS-EXAMINATION COMPENDIUM.


CROSS-EXAMINATION BY MR. JANIGAN:

     MR. JANIGAN:  Thank you, Madam Chair.


And once again, I am indebted to the work of my fellow intervenors with respect to the cross-examination of the panel, and have been able to whittle mine as a result.  

     I would like to start off with the issue of reliability metrics, and I wonder, first, could you turn up page 7 of my compendium, which is -- shows the histograms associated with the numbers that are contained in the previous page, page 6, involving SAIDI and SAIFI with the two categories of run-to-fail and proposed custom IR.  

     Now, I take it the proposed CIR are the projections that you have made based on your current capital expenditure proposals for the 2014 to 2019 rate period; is that correct?  

     MR. PARADIS:  Yes, that's correct. 

     MR. JANIGAN:  And can you tell me -- and I apologize if this question has been broached to you before, but can you tell me what the "Run-to-fail" line is in relation to your current capital program, as set out in the Distribution System Plan? 

     For example, is this what you project the SAIDI/SAIFI 

results to be with no capital spending, a portion of which you are proposing to spend, or something else?  

     MR. PARADIS:  Yes.  The run-to-fail scenario is based on responding to events in a reactive manner, and would exclude the investments as proposed in this CIR. 

     MR. JANIGAN:  So effectively that is no capital spending, would that be, in that area?

     MR. PARADIS:  That would be for renewal programs and certain service programs. 

     So it would still include investments such as customer connections, and the type of investments that are part of our obligation as distributors. 

     MR. JANIGAN:  Okay.  Is there anything in that run-to-fail scenario that includes amounts in the proposed CIR?  

     [Witness panel confers] 

     MR. PARADIS:  So the approach we took to establishing the run-to-fail scenario as defined here is to look at our historical trends, in terms of failure rates, in terms of certain incidences of cost codes, external impacts to our system, and made the assumption that actions that would be taken over the CIR period would be strictly reactive in nature. 

     Therefore, certain trends, if not corrected, would continue, and for failures the asset base and its age would drive probability of failures and failures across the system.  

     MR. JANIGAN:  And that would have a corresponding effect on the SAIDI and SAIFI values?  Is that effectively what you're saying?

     MR. PARADIS:  Yes, it would.  Certain failures have 

different impacts relative to the two metrics.  But yes, it would. 

     MR. JANIGAN:  Okay.  And on page 8 of my compendium, it is noted that you have conducted your reliability analysis, in particular with respect to SAIDI/SAIFI. 

     This has been an in-depth analysis of actual work performed and potential impacts from further work; is that correct?  

I am looking at the second paragraph there on page 8.  

     MR. PARADIS:  Yes, that's correct. 

     MR. JANIGAN:  Thank you.

And would it be correct, then to conclude that your reliability projections represent your best estimate of how well your capital program will perform in maintaining or improving the reliability of Toronto Hydro's distribution system?  

     MR. PARADIS:  Yes, it would represent our best evaluation of the impacts and benefits of the investment programs that we are proposing, in terms of reliability.  

     MR. JANIGAN:  Okay.  And on page 9 of the compendium, it shows -- in your response to the interrogatory from Energy Probe, No. 8, it shows your projection for SAIFI five-year average will fall about 18 percent, and SAIDI will fall about 12.4 percent; is that correct?  

     MR. PARADIS:  Subject to check on the percentages, but yes, that is our projection for the CIR period, given the proposed investments.  

     MR. JANIGAN:  Okay.  And I take it that you have read Mr. Fenrick's evidence with respect to his conclusions that capital spending will improve the SAIFI results?  

And if you want to look at that, you can turn up pages 8, 9 and 10 of his evidence, just to confirm that fact.  

     MR. PARADIS:  I'm broadly familiar with his evidence, yes.  

     MR. JANIGAN:  And would you agree with that conclusion?  

     MR. PARADIS:  If the specific conclusion is that investments and renewal of investments will have an impact on our SAIFI metric, yes, I would agree with that. 

     MR. JANIGN:  And Mr. Fenrick goes further and speculates that -- actually he doesn't speculate, he concludes that the SAIFI results, which lag your SAIDI results, are likely the result of under-investment in capital.  Would you agree with that as well?  

     MR. PARADIS:  I wouldn't speak to whether or not that 

conclusion is accurate.

The approach we take in projecting reliability is that we look at recent performance, we look at the demographics of our system, we look at the various cost codes and arising trends, and we identify the investments that are being proposed and their expected impact in terms of reliability.  And that is what constitutes the base of our projection.  

     MR. JANIGAN:  But I think we agreed that you believe that your capital program will improve the SAIFI results?  

     MR. PARADIS:  Yes, that's our expectation.  

     MR. JANIGAN:  Okay.  I wonder if you could turn up page 22 of my compendium.

     I have a difficult time squaring what Mr. Fenrick said 

with what your evidence has been in relation to improvements on SAIFI by looking at this particular graph, which seems to indicate that in fact the occurrences of outages caused by defective equipment is going down between 2009 and 2013.  

     Do you see that?  

     MR. PARADIS:  Yes, I see that.  

     MR. JANIGAN:  Is it possible for you to square that result with both Mr. Fenrick's conclusion that the SAIFI was likely the result of under-investment and your conclusion that capital investment will improve the SAIFI results?  

     [Witness panel confers] 

     MR. PARADIS:  So the trend seen on page 29 aligns generally with the period of time where we saw an 

increased level of activity in terms of renewal through capital investments. 

     So the trend aligns with our expectation that renewal 

activities will have some level of benefit in terms of our 

reliability metrics.  

     MR. JANIGAN:  So you're saying that increases in capital spending in this period were responsible for the trend line?  

     MR. PARADIS:  Without looking at the specific details of all events, I would say that generally it's likely that our investments -- and particularly the increased level of 

investments over that period -- had a positive impact, yes.  

     MR. JANIGAN:  So Toronto Hydro seems very confident in the idea that capital investment will impact the reliability results, and particularly the SAIFI result.  

     [Witness panel confers] 

MR. WALKER:  I think it's important to distinguish renewal spend from some of our system service investments. 

We have system service investments that are specifically designed to impact reliability in SAIFI, as an example. 

     Largely, those expenditures were undertaking to try and improve the customer's experience, while we try over a longer-term period to address the backlog in failing assets. 

     So yes, capital expenditures, in general, are likely to improve reliability, but it really depends on the type of capital investment that you do. 

     MR. JANIGAN:  Well, you -- sorry.  You projected that your SAIFI five-year average will fall about 18 percent.  You have some confidence that your capital program that you are asking for approval here will result in an improvement to SAIFI of that amount?

     MR. PARADIS:  Yes.  

     MR. JANIGAN:  Okay.  My question is:  why isn't that confidence reflected in the PCI formula in any way?  

     MR. KEIZER:  I think that would be something that panel 5 would be best placed to address.  

     MR. JANIGAN:  Okay.  Now, I wonder if you can confirm that the capital spending that THESL does is for one of three reasons, Toronto Hydro does for one of three reasons: connecting customers, service quality -- which includes power and billing -- and reliability of power service.  

     MR. WALKER:  Those are elements.  I'm sorry, can you state the first part of your question again?  

     MR. JANIGAN:  Sure.  That all capital spending that Toronto Hydro does falls within three categories: connecting customers, service quality -- which includes power and billing -- and reliability of power service.  

     MR. WALKER:  I would say that there's also our general plant expenditures, which are required capital expenditures to run our business in support of those things.  So if you want to make that distinction. 

     MR. JANIGAN:  Okay.  It may fall under one of those three categories, though, would they not?  

     MR. WALKER:  Potentially. 

     MR. JANIGAN:  Okay.  I wonder if you could look at page 11. 

     MR. WALKER:  Of your compendium?  

     MR. JANIGAN:  Please.  And it sets out trigger drivers for capital investment from 2015 to 2019, in terms of the millions of dollars. 

     And with respect to the trigger drivers, I am a little bit curious why reliability has only a very small portion of the trigger drivers for capital investment.  

     MR. PARADIS:  So reliability is a trigger driver for some of our programs under system service, but in our renewal proposals the trigger driver for a lot of the programs is associated with failure risks.  

     MR. JANIGAN:  And that's not a reliability variable?  

     MR. PARADIS:  So what we've done throughout our DSP is make a distinction between a trigger driver -- which is the reason that leads us to want to undertake the work -- and other drivers that are associated with the work.

And a clarification that we have made a few times is that the trigger driver may not necessarily be the most critical driver for the work, but it is the element that initiates our investigation of undertaking that work.  

     MR. JANIGAN:  Okay.  And with respect to -- and I have a table on page 12, which unfortunately was truncated in the published version, but appears as Exhibit 2A, tab 6, schedule 3 in the Toronto Hydro evidence.  

     Is it possible to say, in terms of reliability, which portion of these general categories of expenditures are associated with reliability?

     MR. WALKER:  Sorry, we were just looking at the table and I missed the question. 

     MR. JANIGAN:  Which portion of these general expenditures are associated with reliability?  

     MR. WALKER:  To get a comprehensive answer I think you would have to look at the individual programs and the drivers listed for those programs. 

     MR. JANIGAN:  Mm-hmm. 

     MR. WALKER:  But in general system renewal is reliability-based.  Certain elements of system service are 

reliability-based.  Access to -- oh, okay.  

     MR. PARADIS:  So if I could take you to our response to SIA 10 as an example, so we were asked to provide a list of investment areas where we expected to see some benefit in terms of duration, duration of outages. 

     And you can see on the first page and the second page that there's an extensive number of our programs that are expected to have some benefit in terms of outage duration. 

And the same would be true for frequency.  

     MR. JANIGAN:  Okay.  Just back to the -- what kind of performance exists now, on pages 16 through 19 we've compiled the evidence that you've given on the SAIDI-SAIFI-facing metrics, including loss of supply and major event days, excluding loss of supply and major event days. 

     Would you agree with me that, with the exception of CAIDI, the graphs provided show a declining trend in these metrics since 2009?  


[Witness panel confers]

     MR. PARADIS:  So could you perhaps just restate your question?  

     MR. JANIGAN:  Well, in these graphs that we've provided in pages 16, 17, 18 and 19, similar to the trend that we noticed with respect to SAIFI, with the exception of CAIDI, the graphs provide -- the graphs that are provided therein show a declining trend in these metrics since 2009.  In other words, improvement?  

     MR. PARADIS:  Yes, we've seen some improvements in terms of our reliability performance over that period.  


     MR. JANIGAN:  Okay.  And it appears to show, on page 19, that for CAIDI the trend is stable.  Can you explain why CAIDI doesn't show the same improvements as SAIFI and SAIDI?


[Witness panel confers]

MR. PARADIS:  So if we could turn to page 14 of your 

compendium -- 

     MR. JANIGAN:  Mm-hmm. 

     MR. PARADIS:  -- or in the evidence, it is Exhibit 2B, 

section C, page 6, and under C2.1.2 we address specifically that reality.  And in particular on line 9, we say that:

"When it comes to CAIDI, the improvement of SAIDI is negated by similar improvement in SAIFI." 

     So the net outcome, as you track CAIDI, is that the 

improvement that we've seen for SAIFI and the improvement that we have seen for SAIDI net out when computing the CAIDI value. 

     And that's why there is a stable, or a flat trend for that metric.  

     MR. JANIGAN:  Okay.  I wonder if you could look at page 4 of our compendium, which shows the capital expenditures, and attempt to superimpose it on any one of these graphs.  

     There doesn't seem to be a clear correlation between capital spending and reliability.  It seems that you spend very -– that some years you spend very little, and your reliability continues to improve and vice versa.  

     MR. PARADIS:  So in terms of reliability improvement, 

particularly for renewal investments, there's generally a lag between the investment and the overall improvement to the system performance. 

     So if you look at that same graph, 2007 represents what we could qualify as the starting point of our greater investments in renewal activities. 

     And consequently, if you look at the reliability performance over 2009 and 2013, we start seeing that trend of improvement roughly two years after those investments have started increasing.  

     MR. JANIGAN:  So you think it is simply a time lag problem?  

     MR. PARADIS:  Again, without getting into the specifics, some of it is related to the time lag.  

     MR. JANIGAN:  Okay.  Can you turn up page 27 of my compendium?  

     It is noted here at the top of the page that -- in 

answer to part (e) of an Energy Probe interrogatory, 2A Energy Probe 9:   

"Toronto Hydro does not agree that tracking SAIDI-SAIFI attributable to defective equipment and tree contact outage cause codes would be an appropriate metric to evaluate the outcomes of equipment refurbishment, replacement and vegetation management."

     This confused us, as we thought you did measure defective equipment by an outage code.  But then you have indicated, on page 21, that Toronto Hydro tracks its equipment-related outage using ITIS, where each event is assigned a specific cause code:

"The count or number of outages caused by failed equipment speaks to the general condition of utility assets and Toronto Hydro proposes to track the number of equipment-related outages on a rolling 12-month basis."

     Can you explain the difference between what or how you are proposing to measure equipment failure and in contrast to using the cause codes that you would use -- for example for tree contacts -- and what is the material difference in magnitude using either of these methods?  

     MR. PARADIS:  So the point we were trying to make in part 1 of our response to (e) is that our renewal activities do address risks of failures in certain parts of the system, and that will reduce the risk associated with that area of the system.

But given the current context that we spoke about and the existing backlog of assets in our system that present a risk in terms of reliability, tracking defective equipment instances wouldn't directly reflect the benefit and the value that our program provides.  

     MR. JANIGAN:  Why not?  

     MR. PARADIS:  Because they represent system-wide values when our investments target specific risks in specific areas. 

     MR. JANIGAN:  Okay.  You propose to have that tracked in another fashion. 

     And how will that be a better method of tracking, 

particularly for looking at the performance of Toronto Hydro?  

     MR. WALKER:  Well, if you turn to Exhibit 2B, section C, page 28, in section C4.1.1 -- line 4, I guess that is -- we plan to track the number of outages occurring over a rolling 12-month period due to defective or otherwise malfunctioning equipment. 

     So this isn't putting it into this formulation of SAIFI or SAIDI, which would confuse the numbers.  This is just a straight comparison of the number of occurrences of outages associated with defective equipment.  

     MR. JANIGAN:  Okay.  And are you going to be able to then use this number to compile SAIDI and SAIFI results?  

     MR. WALKER:  Well, this -- the data that supports this, the number of failures, does go into the SAIFI and SAIDI calculation by definition.  So yes. 

     MR. JANIGAN:  Okay.  Now, on our compendium page 28, you have provided extracts from your evidence where you provide breakdowns of SAIFI and SAIDI.  

     What measure of -- what method has been used for these 

metrics?  

     MR. PARADIS:  Sorry, could you repeat your question?  

     MR. JANIGAN:  On page 28, you have a breakdown of the SAIDI and SAIFI results.  And I wonder how was this compiled, by way of your old method or by way of the method that you propose to use.  

     MR. PARADIS:  I'm not sure I'm clear on what you're 

referring to, in terms of old method versus new method.  

     But these events were categorized as they happened in our system over those years, and the information for those events is stored in our ITIS system. 

     MR. JANIGAN:  Okay. 

     MR. PARADIS:  So the events themselves are categorized as they occur, and they would be reflected here in those tables and those summaries. 

     MR. JANIGAN:  But going forward, you won't be able to do these kind of graphs?  Or will you be able to do these kinds of graphs?  

     MR. PARADIS:  Yes.  We will be able to do these kind of 

graphs, yes. 

     MR. JANIGAN:  Would anything preclude Toronto Hydro from using these measurements as metrics to measure the success or failure of implementing your Distribution Service Plan -- System Plan, sorry?  

MR. WALKER:  We do monitor these things to determine whether or not our reliability is improving, which is an outcome, certainly, of our programs.  

     MR. JANIGAN:  And the question is whether or not these can be incorporated in your PCI.  I take it you would prefer me to leave it to panel 5?  

     MR. WALKER:  Most definitely.  

     MR. JANIGAN:  Okay.  Now, on page 36 of my compendium -- 

     MR. QUESNELLE:  Mr. Janigan, can I just interject?  Just before you leave that last area, I just want to make sure I'm clear. 

     Is the only difference between what you're showing here on page 28 with your standard SAIDI and SAIFI bar graphs here and the other process that you were discussing is one of tracking on a rolling 12 months?  So it is purely a temporal difference, that this captures the events in one year?  And the other process is one of a rolling 12 months to keep up with the -- your program and follow suit with the program?  Is that -- conceptually, have I got that right?  

     MR. WALKER:  No.  I think for the purposes of SAIFI and SAIDI, the calculation is actually not just the interruptions themselves, but the number of customers that were impacted. 

     MR. QUESNELLE:  Mm-hmm. 

     MR. WALKER:  And/or the customer minutes in the case of SAIDI.  Then it is normalized to the total number of customers. 

     MR. QUESNELLE:  And your other measurement is a rolling 12 months of defects on equipment, irrespective of the impact on the customers?  

     MR. WALKER:  That's right.  It is just a determination of whether or not we're reducing the number of failures related to equipment. 

     MR. QUESNELLE:  Thank you.  Thank you.  

     MR. JANIGAN:  Thank you.  

     On page 36 of the compendium, in addition to equipment failure, you have provided six other implementation metrics.  And as I understand it, these metrics don't have a specific target or objective during your plan; is that correct?  

     MR. WALKER:  Yes.  That's correct.  There is not a target per se. 

     MR. JANIGAN:  Okay.  And with respect to the measure of the distribution plan implementation progress, this figure provides a ratio for the spending in year 1 subtracted from the spending in year 2, divided by the total five-year plan.  

     My question is:  When this metric is calculated, is the spending of year 1 and year 2 the spending on the proposed plan that we see in front of us today, or just whatever you happen to spend money on?  

     MR. WALKER:  The metric itself -- I'm sorry, I think when you said it is year 1 minus year 2, it is a year-over-year combination of capital spend over the five years. 

     So it is an addition, not a subtraction, just so that is clear. 

     MR. JANIGAN:  Okay. 

     MR. WALKER:  What this is, it's a representation of the actual spend that we're achieving in each year on our capital program. 

     So it's not -- it is based on actuals. 

     MR. JANIGAN:  But is it in the five -- is it the five-year plan?  Or is it anything that you are spending money on?  

     MR. WALKER:  It's all capital expenditures that are in the CIR application on that five-year basis.

Does that answer your question?  

     MR. JANIGAN:  Yes.  Now, the question is:  Why is this an important metric?

Let me give you an example.  If you find a cheaper way to buy and install equipment during the course of your Distribution System Plan, all things being equal, you've saved money.  And if you haven't spent it elsewhere, this shows some measure of efficiency, but this metric would show some measure of failure, would it not?  

     MR. WALKER:  If we did achieve some level of savings in some elements of the program, we would likely do more work with the money that was saved in the course of that year. 

     MR. JANIGAN:  Okay. 

     MR. WALKER:  So we have a significant amount of work we want to undertake, you know, in these five years and beyond.  We talked about the backlog of assets past their end-of-life that we need to address, so that is how we would deal with that. 

     MR. JANIGAN:  But as I recall, it's only the amount that is in your CIR that can be included in this formula. 

If you go off and spend it elsewhere in the capital program, it won't be included in this, will it?

     MR. WALKER:  Sorry.  These would be expenditures in the same programs that are in the CIR. 

     MR. JANIGAN:  Okay. 

     MR. WALKER:  We would still be doing asset renewal.  We would still be doing, you know, the same kind of expenditures. 

     MR. JANIGAN:  Okay.  

     MR. KEIZER:  Madam Chair, if I may, just to clarify --  I apologize to my friend for interrupting.  I was wondering as to the course of the afternoon.  I note the panel has been soon up for the two-hour mark without a break, and I was just curious as to when that would occur. 

     MS. LONG:  We were going to go to 4:30, but if the panel feels they would like a ten-minute break, we're happy to do that and come back at 4:00 if you feel you would like a bit of a break. 

     MR. WALKER:  I think that might be good.

[Laughter] 

     MS. LONG:  Fair enough.  We will come back at 4:00 o'clock and then sit until 4:30.  Thanks.  

     --- Recess taken at 3:46 p.m.


--- Upon resuming at 4:00 p.m.

MS. LONG:  Please be seated.

Mr. Janigan?

     MR. JANIGAN:  Thank you, Madam Chair.  

     I would like to turn to page 39 of our compendium, which deals with your metric associated with planning, engineering and support efficiency.  

     And as I understand it, this metric measures the proportion of administrative costs in relation to the overall capital budget; am I correct on that? 

     MR. WALKER:  Yes.  The administrative cost that is directly involved in the capital program.  

     MR. JANIGAN:  And by way of analogy, could you analogize this to a situation of a charitable organization measuring the administrative costs versus what it spends on actual programs?  

     MR. WALKER:  I'm not an expert on charitable businesses, but I suppose that's comparable. 

     MR. JANIGAN:  Okay.  And is that what you are really trying to show, how much it cost to plan and administer projects as opposed to the cost of the actual plant that is built?  

     MR. WALKER:  Yes.  It's the -- as it says, the planning and engineering costs.  So it is related to the development of the programs and the analysis, yes. 

     MR. JANIGAN:  And in terms of whether these administrative costs go up or down, I take it if they're going down it would be some sign of efficiency?  

     MR. WALKER:  It's difficult to specifically say that. 

I mean, we have a staff of engineers that are doing work.  

They are doing work on all elements of our programs.  So they're doing planning for both capital and maintenance work, as an example.  

     They charge their time based on how much time they're 

spending in the split between capital and maintenance. 

     So if you see a drop in the capital portion of this, it may be that they've spent more time on maintenance, for whatever reason. 

     So it is a little more complicated than that. 

     MR. JANIGAN:  Okay.  Once again, this is a metric without any particular target or objective?  

     MR. WALKER:  That's correct. 

     MR. JANIGAN:  Okay.  Now, on page 43 of my compendium, it notes that Toronto Hydro -- with respect to supply chain 

efficiency and materials on-cost, Toronto Hydro proposes to track the annual on-cost value as a measure of efficiency of the utility supply chain and warehousing activities.  

     I take it this may be a measure of efficiency in delivering the capital program?

     MR. WALKER:  It's a measure of the efficiency of the 

material handling around the program, so the warehousing and issuing of materials for the execution of the program.  

     MR. JANIGAN:  If you found during your rate program that your measures for both C3.2 and C3.3 were degrading 

significantly, what action could be taken?  

     MR. WALKER:  By "degrading," you mean getting more expensive?  

     MR. JANIGAN:  Yes. 

     MR. WALKER:  I guess that would depend on the 

circumstances by which they were getting more expensive.  

     You know, we'd have to do an analysis and see why that was happening, and address it on that basis. 

     MR. JANIGAN:  Okay.  Turning to your construction efficiency measure, internal versus contractor, on page 46, is this measure new?  

     MR. WALKER:  I'm not an expert on how often we've used this metric.  I know we have looked at it in the past, in relation to previous contracts. 

     I don't think we've ever tabled it before, if you like. 

     MR. JANIGAN:  Okay.  Would I be correct to summarize this metric as more of an internal measure, one that THESL -– Toronto Hydro uses to judge in hindsight whether the delivery of capital projects internally is competitive with 

externally-sourced projects?  

     MR. WALKER:  Yes, that's correct.  

     MR. JANIGAN:  Okay.  And is this information used in 

subsequent periods to determine how to assign work, either 

internally or externally?  

     MR. WALKER:  No, it has nothing to do with the assignment of work.  It's really just looking at a comparator between our internal costs and the market-rate costs to do work. 

     So it gives us an opportunity to benchmark ourselves against that, if you like. 

     MR. JANIGAN:  Why wouldn't that information be useful in terms of assigning work in the future? 

     MR. WALKER:  The way we assign work is based on the skill set of the workers, and the type of work that we're doing.  It's not a cost-based comparison on that basis. 

     We have internal people that we want to keep busy, so we're going to give them work that is within their skill sets and keeps them efficient and occupied. 

     And then the remainder of the work, if you like, we're going to contract out to the limits of either the program or our contract resources.  

     MR. JANIGAN:  But presumably those external contractors, if you have measures that show differing rates of efficiency, you would likely want to employ the most efficient contractor, would you not?  

     MR. WALKER:  Between contractors, do you mean?  

     MR. JANIGAN:  Yes.  

     MR. WALKER:  Yes.  I have to confess I'm not sure how we go about assigning work to the contractors directly.  

     MR. JANIGAN:  At my compendium on page 50, there is another metric called "Standard asset assembly labour."  

     And like the internal versus external contractor metric, would it be fair to say this is a metric whose purpose is, over the long run, to help Toronto Hydro plan better ways of planning capital projects?

     MR. WALKER:  There is an element of the planning of work in it, but it is really more a measure of how we're executing on the work with our internal resources.  

     MR. JANIGAN:  How do you think this measure could be used to understand the efficiency of the implementation of your proposed Distribution System Plan, if at all?  

     MR. WALKER:  The intent of the metric, it relates to the difficulty we have with unit costing that we've talked about throughout this proceeding.  

     What the metric will allow us to do, once developed, is set an expectation for the construction of an asset assembly -- a location of assets is kind of the way to think of it -- based on its particular circumstances: the type of equipment, the environment that it's in, you know, the conditions of the installation.  And then challenge the crews to meet or exceed that number. 

     It will be tracked on that basis, and then there will be a post mortem on those things to determine how they -- if they're able to beat the number, how they were able to do that, and then we will try to institute those learnings into our ongoing programs. 

     So the intent would be to gather those learnings through this mechanism, and then apply them in the future going forward. 

     MR. JANIGAN:  Okay.  Thank you.

If I could ask you to turn up my compendium at page 55, there is a discussion of station capacity availability.  

     And on the following page, figure 12, this graph seems to show a trend of declining performance.  Is that a correct interpretation?  

     MR. WALKER:  I would be cautious in calling it 

"performance."  It's a measure of how many stations are reaching or actually exceeding 90 percent of load, so it is an indication of where we're starting to run into constraints at our stations. 

     MR. JANIGAN:  Okay.  This measure of station capacity availability, is this a measure that would help one understand the success or failure of the proposed DSP in this rate plan?  

     MR. SIMPSON:  This measure should help us see whether we're falling behind or improving as far as available capacity for the system.

Some of the results of that capacity shortfall are that we have less flexibility and more problems when outages do arise.  And so it is an important metric to track.

But I am not sure I agree with your statement.  

     MR. JANIGAN:  Are you expecting a different trend line with the execution of your capital plan?  

     MR. SIMPSON:  Because so many of the stations are approaching their capacity and that pace of new load and new connections is continuing, we expect this remains fairly steady over the next period.  

     MR. JANIGAN:  So no improvement is likely the predicted result?  

     MR. SIMPSON:  Perhaps, more properly, without the needed investment there will be a deterioration in this metric.  The capacity shortfall will worsen if we don't make our investments. 

     MR. JANIGAN:  Okay.  I wonder if you could turn up in my compendium, page 59.

And Toronto Hydro is proposing to undertake a customer interruption cost study as part of its enhancement of its feeder investment model enhancements, and the study is estimated to cost 1.7 million.  Am I correct on that?  

     MR. OTAL:  No.  The portion that is associated with the CIC valuation study would be $700,000.  

     MR. JANIGAN:  Okay.  And Toronto Hydro is going to find values for customer interruption costs.  And I understand there are theoretically three ways to calculate such a cost, either by direct cost, willingness to pay, and willingness to accept.  Am I correct on that?  

     MR. OTAL:  That is correct. 

     MR. JANIGAN:  Now, on page 59 of my compendium we've taken a number of extracts from the papers you provided in response to 2B AMPCO 14.  And in one of them, on page 63 of the compendium, it states that:   

"Most households do not experience any tangible economic losses when an interruption occurs.  Direct cost values are based on subjective issues, subjective expectations, and subjective well-being."

     I guess -- do you agree with that?  

     MR. OTAL:  So we believe that direct worth or direct cost is a value that most closely correlates to the direct tangible losses that would be associated with customers.  

     And so we've also noticed that there continues to be a blurring of the lines between residential and commercial 

customers, most specifically with respect to residential customers performing commercially-related activities within their residential properties, whether it is operating a small business from home or working from home.  

     I believe this particular reference on page 63 of your compendium -- and, you know, we have seen it in other studies -- is trying to indicate that it is difficult to extract valuations that would be associated with direct worth with residential customers because of the question around tangible economic losses. 

     But again, this particular study was performed some time ago, back in 2008.  And we do believe that, you know, a lot has changed since that time and there has been a dramatic increase in the amount of commercial activities that are taking place within residential properties, most specifically with respect to residential customers that are working from home.  

     And so we believe that there are direct tangible losses that would be associated with those specific activities.  

     MR. JANIGAN:  What are you going to do with that information?  

     MR. OTAL:  Well, the CIC valuation study really represents an opportunity for us to further enhance the architecture that we're using to calculate our outage costs. 

     And so we have an opportunity to improve the precision between our valuations, our architecture and the specific customers within the city of Toronto.  

     MR. JANIGAN:  So the benefits associated with any program would include customer interruption costs -- or a diminution of customer interruption costs?  Is that what you're saying?  


[Witness panel confers]

     MR. OTAL:  So we are already incorporating customer interruption costs within the feeder investment model, and this valuation study would represent an opportunity for us to further enhance the customer interruption cost valuations that we are using within the feeder investment model.  And really this is part of our continuous improvement, not only with respect to the feeder investment model, but we do these types of continuous improvements all across the decision support systems that we are using as part of our asset management planning process. 

     MR. JANIGAN:  Okay.  Now, I have a number of questions on Issue 6.6, the specific service charges area, and then the charge for missed appointments. 

     Am I correct that this has been given to this panel to deal with?  Or why isn't it in panel 5?  

     MS. LONG:  Mr. Keizer?  

     MR. KEIZER:  If I could just have a moment.  

     MR. JANIGAN:  Maybe I am mistaken.  

     MR. KEIZER:  So I think that the methodology of how it's actually calculated is panel 3, where specific service charges would be dealt with.  

     I think the justification for the underlying charge, the request for system information and the service call I think does rest with this panel on the justification basis for it.  The actual methodology for calculating it is with panel 3.  

     MS. LONG:  Mr. Janigan, do you appreciate that distinction?  

     MR. JANIGAN:  I don't know that panel 3 -- how that got involved, but okay.  I will start my questions.  If I am intruding into panel 3 you can let me know, and I will ask the questions to them. 

     Now, as I understand it, at Exhibit 8, tab 2, schedule 1 on page 3 and 4 -- that's Exhibit 8, tab 2, schedule 1, page 3 and 4 -- Toronto Hydro is proposing a new charge of $55 that would apply to customer-initiated service requests to inspect or advise customers on electricity supply issues not directly related to the distribution system.  And, as well, you propose to apply this charge in instances of missed appointments by customers. 

     Can you give me a couple of examples of what would be considered a customer-initiated service request not directly related to the Toronto Hydro distribution system?  


[Witness panel confers]

     MR. JANIGAN:  Not all at once.

[Laughter]

[Witness panel confers] 

     MR. LYBEROGIANNIS:  Two particular examples, Mr. Janigan.  One might be if customers are specifically asking for Toronto Hydro's presence when wires are down that are not owned by Toronto Hydro.  That would be one example. 

     Another example might be if a customer is asking for some sort of information or input from Toronto Hydro where it is actually customer-owned assets, or assets on the other side of a demarcation point. 

     MR. JANIGAN:  Okay.  And with respect to the missed 

appointments charge, does this apply to all appointments, or simply the appointments which involve service requests not directly related to the Toronto Hydro distribution system?  

      MR. LYBEROGIANNIS:  Toronto Hydro expects to apply this charge consistently.  So if all customer-owned equipment instances where input is required from Toronto Hydro, the charge would be applied, and, similarly, if customers were to miss the appointment. 

     MR. JANIGAN:  So if there was an outage, for example, a hydro outage and they missed the appointment, this charge would apply?  

     MR. LYBEROGIANNIS:  If you can explain -- if there was an outage?  

     MR. JANIGAN:  At the residence, for example, or a hydro failure of some kind, and Toronto Hydro is summoned to the residence, or there's an appointment made which is missed by the ratepayer.  

     I take it that at that point in time, the missed appointment charge would apply?  

     MR. WALKER:  No.  I don't think we make appointments when customers are out of power.  We would respond to that as an emergency situation.  It would be a failure of our plant, in that case. 

     MR. JANIGAN:  Okay.  Can you give me an example of what sort of circumstance would involve the distribution system that is not concerned with an outage, that a customer may summon Toronto Hydro, or make an appointment?  

     MR. WALKER:  It might be to make a connection to a service upgrade for a temporary power arrangement, if somebody is doing construction work on a site or, you know, work at their home. 

     A disconnect, if they need the power disconnected in order to do something in their residence, or in their property. 

     MR. JANIGAN:  Okay.  And I take it your proposal doesn't include a reciprocal kind of charge to Toronto Hydro in the event that they miss the appointment?  

     MR. LYBEROGIANNIS:  If I can just have one minute, Mr. 

Janigan.  

There is an interrogatory response in which we dealt with this particular issue. 

     MR. JANIGAN:  64. 

     MR. LYBEROGIANNIS:  VECC 64?  

     MR. JANIGAN:  Yes, VECC 64.  Sorry, I should have given that to you.  

     MR. LYBEROGIANNIS:  Yes, I have that.  And in that 

particular interrogatory, part (a), that specific question was asked.

And no, Toronto Hydro is not suggesting that  they have a reciprocal charge, and the particular reason that was given is that Toronto Hydro is governed by various other mechanisms that regulate its behaviour in this respect. 

     So, for example, the Distribution System Plan has a missed appointments metric that is being measured, whereas customers do not have anything that would govern or regulate their response. 

     MR. JANIGAN:  What sort of penalty does Toronto Hydro now pay if they miss an appointment?  

     MR. LYBEROGIANNIS:  Currently Toronto Hydro does not pay a penalty. 

     MR. JANIGAN:  Okay.  And as I understand it, the appointment for Toronto Hydro is in a four-hour window?  That's actually in that same interrogatory. 

     MR. LYBEROGIANNIS:  That would be typically the case, yes. 

     MR. JANIGAN:  How much advance notification would a customer have to give in order to avoid a missed appointment charge?

[Witness panel confers] 

     MR. LYBEROGIANNIS:  The specific time frame that would be required?  I'm not sure at this point. 

     MR. JANIGAN:  Okay.  Are you familiar with the situation in many United States utilities that have in their price-cap plan provisions that mandate a payment to a customer in the event of a missed appointment?  

     MR. LYBEROGIANNIS:  I am personally not aware of that. 

     MR. JANIGAN:  Okay.  

     Thank you, panel.  Those are all of my questions.  

     MS. LONG:  Thank you, Mr. Janigan.  

     Given the hour, I don't think, Mr. Faye, we will have you start; you will start tomorrow.  Actually, we will start with the Navigant witness tomorrow, and then, Mr. Faye, you can head off after that.  

     It looks to me, Mr. Keizer, by my schedule that we have five hours left for this panel, so it looks like they will be here again tomorrow, and then we will have panel 3 start on Wednesday.

Mr. Davies will advise me if I am wrong in that, 

but I think it is another five hours.  I think it is at least five.  

MR. DAVIES:  I think it is in that range, yes, but I will check to be sure. 

     MR. KEIZER:  In any event, if people do find efficiencies in their cross, we will have panel 3 available tomorrow.  If we have time to get them on, we will have them here, ready and available to do so. 

     MS. LONG:  Okay.  Good.  And for any parties who want to make submissions on the confidentiality of the documents that were provided late last night to the parties, we would like to hear submissions tomorrow morning after we hear the Navigant witness.  

     So if there is nothing further, then we are adjourned until tomorrow morning.  

     --- Whereupon the hearing adjourned at 4:29 p.m. 
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